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SECTION -1
gug — |
CHILD DEVELOPMENT AND PEDAGOGY
T forera wa e

There are 30 questions in all in this section.
All questions are compulsory.

T @UE U HA 30 TH B | E'%
Tt v FrFEE | =
Which assessment type is NOT related to teaching-learning process ?
(A) Achievement (B) Continuous
(C) Clinical (D) Remedial
JTheT T i |1 TehT f¥reror- 31fenms wisken & vafa A& g 7
(A) 39w (B) #dq
(C) et (D) SUENIcHS
Main objective of action research is
(A) Activity (B) Diagnostic
(C) Descriptive (D) Transformative
fhaTeeh STTEY™ 1 Y@ 3839 2l
(A) Trafaty (B) e
(C) faatumemss (D) FHTHR
Which of the following is NOT true for the construction of achievement test ?
(A) Reliability (B) Evaluation
(C) Validity (D) Objectivity
Iuerfedy wlieror & ffor & o Frr A PR o e adi 2 2
(A) foreeaiaar (B) AT
(C) duar (D) SEgEal
National Curriculum Framework was introduced in which year ?
(A) 2001 (B) 2005
(C) 2004 (D) 2008
TE UTSa=1 T i b a o srerora fokanm mm 2
(A) 2001 (B) 2005

(C) 2004 (D) 2008



Which concept is NOT related to Jean Piaget’s Theory of Cognitive Development ?
(A) Schema (B) Acquisition
(C) Assimilation (D) Accommodation

S TS & G5t forehr o fagra @ & ©) sraumon gefRa T8 @ 2
(A) whHT (B) 3TerEm

(C) ATcHEATHII (D) IR

Pair of genes that occupy a specific location on a particular chromosome and control the

same trait is termed as

(A) Karyotype (B) RNA

(C) Allele (D) Autosomes

S T SATeT, S oy URE W U TaRIE T SAAEd Sl § 99T §6H T S HafEa

HAT R, HEIACS |
o

(A) HEET (B) IR.TAT, i
(C) Uea (D) IEETH

Which of the following is NOT a stage of psychosexual development propounded by

Sigmund Freud ?
(A) Phallic stage (B) Anal stage

(C) Oedipus complex stage (D) Latency stage
Termvg e g fodTfed e foshme i staeen i d a R S T8 8 2

(A) HfcTsh sraeen (B) TAS IrEERN

(C) 3iETd hirdered JTaen (D) e FraE



10.

11.

Role of environment in child development is best reflected by

(A) Temperamental tendencies (B) Personality disposition

(C) Primary reaction patterns (D) Habit formation

1o forehTdl & ST <6t et % g T d TE ®Y H Yfafafred g 2 |
(A) TEWTErTd Sgfaat (B) SAfadcd hl Wbl

(C) wnuftres gfefshan = adieh (D) 3Tea fmfor

Which statement is NOT true as a principle of development ?
(A) Every stage is equally important for development.

(B) Development is the product of maturation and learning.
(C) There are individual differences in development.

(D) Developmental patterns are predictable.

s ST AP AT FHA TI TS B ?

(A) T & forl Ieieh Srawen auH ¥ 8 HEw Ul £ |

(B) o, uftderrar aen e w1 ufom 2 |

(C) foepra o sufaamrd fafirrard &t 2 | E}EE‘-
(D) forera o wTEw gai A g & |

Theory of moral development was propounded by whom ?

(A) Robert J. Havighurst (B) Lawrence Kohlberg
(C) Elizabeth Hurlock (D) Lev Vygotsky
Afcres forepmat o1 fagra fopeen grr wiicronfea foman mmem o

(A) T 3. Bfemeed (B) TIRH hleerert

(C) Tuferamey gt (D) < IR

Individual differences in career choices are explained by

(A) Differences in cognitive abilities

(B) Temperamental tendencies

(C) Differences in cultural background

(D) Differences in aptitude

a9 1§ Fafaes fafiranat i e gro awgmen S @ -

(A) TFHICHS TFAI3T § 3T (B) T@wTeTa Sgfar
(C) iEhiceh Iuyfi § 1=K (D) FArerar & FF=



12.

13.

14.

15.

16.

Which of the following is a performance test of intelligence ?
(A) Jalota General Intelligence test (B) Bhatia Battery

(C) Army Alpha test (D) Draw A Man test
frer 4 9 a1 f 1 Froaf e 7

(A) ST | §fg udieqor (B) wfea sl

(C) AT 37w T (D) S T IH qleqor

Which of the following concept is NOT true for the nature of individual differences ?

(A) Normal probability (B) Learning similarity

(C) Variability (D) Interrelationship of traits
feara fafir=rarsti 6t wepfa o fordl fmm o @ A #ff sreamon g 78 8 7
(A) TTHR TEATSIAT (B) 3rferma wHEar

(C) ToaemRiterar (D) Sfieron 1 STaEwY

Who has NOT propounded the trait theory of personality ?
(A) Paul Costa & Robert McCrae (B) Ramond Cattell

(C) Hans Eysenck (D) Gordon Allport

fedca w1 Sfierur fagra fohem wiaarfea =2 fepen @ 7 mem
(A) e ez @ B) e ¥ 5
(C) &4 IEh (D) e srferd

Which personality test is valid for clinical diagnosis ?

(A) MMPI (B) 16 PF

(C) EPPS (D) TAT

I 91 e TET gre HeH & R dg 2 7

(A) TH.TH.937E, (B) 16 W.U%.

(C) 3.4t ua. (D) AT,

Which intelligence theory was proposed by Robert J. Sternberg ?

(A) Two factor theory (B) Multifactor theory

(C) Triarchic theory (D) Hierarchical theory
Tere o, el gRI gfg 1 b a1 g st fepam mam 2

(A) faepres fgra (B) wghR fagr

(C) Trmam fagr= (D) Uit fagm



17.

18.

19.

20.

21.

According to J.P. Guilford, which is NOT the characteristic of creative children ?

(A) Empathy in thinking
(C) Flexibility in thinking

(B) Multiple solutions to a problem

(D) Originality in thinking

1.t FIeThE & STTER, ST STetehl i fersivd & €t & 8 2

(A) o= o gurgyfd

(C) T o erietom

Trisomy-21 is termed as
(A) Klinefelter’s syndrome
(C) Turner’s syndrome

TT3ENT-21 =1 hal 1T &
(A) FATSTHeL TALTIT
(C) TR G

(B) TR §g[IY W
(D) Ta== o wifeterar

(B) Sickle cell disease
(D) Down syndrome

(B) fTaset Tar U
(D) SIS A0

Which measure is NOT relevant for the education of gifted children ?

(A) Enrichment of Curriculum
(C) Grade acceleration

(B) Remedial teaching
(D) Special classes

gferaremet sTetent <Al f3rer o for@ o a1 U wrEfies A8 @ 2

(A) UIGHHA i TG
(C) =oft 3=ifar

(B) IUEHIcHS LA
(D) foriy e

Which disorder is a type of learning disability ?

(A) Cretinism
(C) Dyslexia

(B) ADHD
(D) Autism

1 i ferepfar STferT temeT 61 U THR R ?

(A) shicf=a
(C) Tewafaremm

(B) TSiwaEt
(D) 3iifesH

ERE
A

Which element of maladjustment is specifically related to decision making ?

(A) Stress
(C) Anxiety

(B) Frustration
(D) Conflict

FEERISH 1 B &1 e fosiy &9 & fofa oF 3 wmfRa 2 2

(A) =
(C) T

(B) Ul
D) &=



22,

23.

24,

25.

26.

Which is the final step of problem solving approach of learning ?

(A) Following logical sequence (B) Knowledge of concepts and principles
(C) Verification of performance (D) Demonstration of activity

AT o AT FHTE YT %1 SAf<H SO HH A1 8 ?

(A) dfeheh ST =T STTETT (B) Eyc Yt =i 1 =

(C) TsaTea &1 T (D) Teranferfer 1 yew

Use of defense mechanisms as a strategy for adjustment was originally introduced by
whom ?

(A) Abraham Maslow (B) Sigmund Freud

(C) Carl Rogers (D) Jean Piaget

THRISH o fo1dl U I o &9 0 Weareeh ol < SR ! Hifetsh €9 § foheh g0 T
ERIRICIE

(A) 3T HTEA (B) Trmug wrre

(C) e U5E ) EIERERIE]

Which of the following is NOT a part of Thorndike’s laws of learning ?
(A) Law of readiness (B) Law of association

(C) Law of exercise (D) Law of effect

o 5 8 oo w1 utierse o die & i &1 feem 72 8 7 OrA0)
(A) Tt &1 frm (B) @rg=d &1 fram =
(C)  31eard i forerm (D) wHTE 1 Frm

Which of the following is a psychological factor influencing classroom learning ?
(A) Health, age and gender (B) Level of maturity
(C) Motivational and emotional state (D) Meaningfulness of the contents

71 o @ 6 o1 e § EREA S TWTfad S ATeT HHISTG e | 7
(A) TR, 3W T UG (B) UiUerIdT 3l &R
(C)  SANTIROTTCH, TaH HerTeeh 3awer (D) forwereeg <hi sreiqufar

Insight theory of learning was propounded by whom ?

(A) Wolfgang Kohler (B) Jerome Bruner
(C) Martin Seligman (D) Erik Erikson
i w1 ey fagr=a ferereh gr wfcanfea femem o o 7

(A) TTeHIAT BIgeR (B) SM R

(C) wIféa afermm (D) Uitk Themed



27.

28.

29.

30.

Which are the three important components of motivational cycle ?
(A) Learning, reward and satisfaction

(B) Need, drive and incentive

(C) Motive, goal and feedback

(D) Achievement, approval and affiliation

SRR =5h o oA WEwqul geh HH I 8 ?

(A) AT, TEHR a1 TG

(B) 3TTE¥Ihdl, Jid-IE aUT TIcaTe CfA0
(C) AferseT, Set aun wiagf® =
(D) 3UCHed, A qUT HaL=

Which of the following is an example of extrinsic motivation ?

(A) Need for achievement (B) Anxiety
(C) Level of aspiration (D) Reward
1 5 @ & 1 e ST 1 3eEm R 7

(A) 3STATH hHT T (B) fa=m
(C) 3TehIET &R (D) TE=PR

Which of the following is NOT a type of teaching according to stages of teaching ?

(A) Understanding stage (B) Demonstration stage
(C) Memory stage (D) Reflection stage

foe # & i i fregor 3 Tl o smmem X freor 1 SRR T R 7

(A) TMIER (B) 9GIH &R

(©) Hfawr (D) TaA &R

Which teaching-learning method was introduced by Dwight W. Allen ?

(A) Micro teaching (B) Team teaching

(C) Brain storming (D) Interactive teaching
TATSe S5y, Ut o gRT i i freror-srferm fafy seqa < oig
(A) geo g (B) < frg

(C) uferss fawra (D) 3t=:fema faramoy



31.

32.

33.
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wus - 11

WIS — 1
fe=d
39 @V T Het 30 TH B |
[t T3 e # |
T 3 & o Rreor wgfr & wETOR T R
(A) edfe (B) UIA-T&h
(C) WA (D) #T&d

Frferftaa © @ uep formiy wepr 1 st f3reror wnem 2 fSroest adam o foremer foreqor # waifess
TR U 7 9 [ AT @2

(A) U= (B) <cifasH Em

(C) 3T & W (D) 2R i

7T freger % R feenfeiEt o Wi I e wivrer e ekl wfedi v Attt § foha
foreha 5311 7, 3! ATUfeTd TR I i 2q IH & &1 S i BId & 7

(A) SAEM - gRER (B) I uftgd - faferear

(C) 3rarsear - faamo (D) HT9 3T W9 T 1o |1 <hl SIRen
7T f1eTuT % & o | h Haiteres YA off ST et fafr wmram g -

(A) TrgHTeEs (B) udiem fafy

(C) e wven (D) WTeHTeHH

Ffe, feremeff SommEiem & w9 ® 8, ded 1 IR ITh & gfg B W A, I srawn § g
afterd 21 @1 7, i Freferiae feor s wmen = :

(A) Toramees gEY | (B) SU=TIcHeh f3reqor |

(C) TS UTS AISHT T AU | (D) Teramera fmtor @t |

FrfarRaa Terme 6 3R W e T 36 T 45 G o I AT :

“geft Sfed & Tt B 3T @ e ¥ HU & 01 2 | SHiGh wrRiba § 9w a1 g@ H A

Ffel BN 2, T8 I & S B W 2 | A 3 o g g @ 2 U h et o g ol e
H g a1 37 91’ frehet ugdr 2 | $Et g o 31 €af Hehdl h! TETIAT T &H 31U for=mi e
T % ToTT AT o1 T oid & | T8 d1 g Hikass srfreafe o o1a | 319 fofaa sifireafe & fog
7 =g {6 forem st shusgat gort WTal o STehRel WTST 1 I Y | I[g TamaTiaes 3T orse foraa
ST JTH Y | 3 I UET BT 8 fob 89 Frerd ol 95d @ 97K Sieh o forg =& urd | sueh forw wed vget
foreht oft forer g wehmaTe § fama -9 <t S Bt B | TR 9t e Ste gan fegm | uftes
Bl ST ], a9 forIml o STeRet S1egi b1 AT TohaT SITaT & 3T o1 o weR forar Srar g |7
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38.

39.

40.

41.

42,

43.

44.

45.

@iferd ‘CHfeH wrog T4 8 —

(A) =3 (B) we™
(C) gfewm (D) ferem
‘SR ol Tl & —
(A) gt (B) et
(C) fafvea (D) 31t
“Foa’ wee b1 T wiu-fa=se g —
(A) Ta+ (B) fam+@
(C) fm+a (D) far+a
‘siftreafad’ wmTYes 92 | wuE ffga g —
(A) Tam (B) 3remfiva
© &% (D) wgsife
feafafgad o o = 2

i
(A) e (B) wW T
(C) 3IFmEE (D) H&
‘TR e & HE waiEaTE & —
(A) THIGI, FT, UIHA (B) 31T, BT, ST
(C) 3y, eafeE, STfer (D)  3TeTaRd, T, TSerd
feAdaadfifigea g ?
(A) HF= (B) ¥
(C) Titee (D) dfte
‘3193 f=T R Tehe i o foru forg Arem 1 gEr Aid & — 38 hEd @
(A) T (B) e
(C) ¥ (D) WTETeRITd
frfefiaa 8 @ wemreff wrse 781 2 -
(A) ¥« (B) T@Wd
(C) derd (D) €M™
ST % Tu gAR Ug ¥ B W AT e A1 g@ hi e § ok 9w I | wf e red g
T@ifehd e @ —
(A) STfeaT=reh |3T (B) 3=

(C) veriaT=h |l (D)

fedaTaeh



TR T < SATHT W 24 §&AT 46 & 50 Teh o AL GINT :

“ITe A1 HRE h Gl g T & 7 fah U s9W § glawn & € ], ugel i e Hh!
TRtk qloh U TH-GUT IS ST GHE 81 T 2 — Sfesh Th M & g T T @all i Al
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feg 7 Tgell IR 30 -1 1 A (Rl | 98 o=1g H AR FoRaT STar o TR 3Rt feoedt %
-1 ferehe STETT TR0 EIATOT o TSTITE | SUAT AT | 376 $8 Tehe1eh 1 FEHTS oo T 518
ITEER &t T & |7

46. Tgiferd ‘3TUeT’ g 1 Y & —

(A) 3IFTI (B) 3ATeRIET
(C) ar&iha (D) TR

47. Trfafaa ¥ @ e’ 1 a8 e g EE
(A) R R U bl ST ST & TR | s

(B) IS QIR 1 3« IR Hel ITREA# |
(C) g I Gl 3uerey & ot |
(D) IS SR &g GRT T8 S $H Thrieh 1 SEIHTC [hAT SIRATT |

48. Tr=fafiega § @ &ffam 2 .

(A) Il (B) whiferet
(C) =Rt (D) TRy
49. 39 Tehiteh 1 FEAUTA Tehar’ T T@ifehd o1 Sga=H Sgel T &I —
(A) $ TRl | (B) 39 TRl |
(C) A Tehteni | (D) EH dehAIh |
50. Feafed i @I w R As & 8
(A) @™ (B) gvE
(C) ®IR (D) ¥
51. ‘e vreq 1 fedl YE ®U B -
(A) Zau (B) e
(€©) =mEd (D) &
52. QU Sreehl Ieid Bl | TWiiehd TEsH i IETeT0l & —
(A) ferrm (B) frar-ferdror

(C) s (D) GI™
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60.

Sfeh =T BT 312 Fehe i ITAT TTa & —

(A) TIS gaHET | (B) G %1 gY T 1 T AT |
(C) ferd an femms & | (D) 3¢ & &l

BT I Yo BT & | o1 379 AfIfTa s arett 3faa dehifad & —

(A) T H I ARER | (B) ohTTedt § 317eT e |

(C) U HDel! TR dTeTsl ol g it & | (D)  Ueh IR | & |
“SheTehl Shi T TS | 39 a1 § W Fag Sl R bad & 7

(A) v foed (B) ficee

(€) s fore (D) otferm

T T & AT, TS STFROT 3T AT feh Gecel™ o 978 T8 foiley & 5o e @
(A)  Sleed AT (B) ftres frem

(C) Tepuetmid farftr (D) i ggld

Trfireh TR % UYETd Ue 3R SHidrsti 1 99 Hid Iud & TEHT 18T —

(A) hferar &t wre fFerse gt =iz | [

(B) S A A | =

(C)  <hfrar <Al ATST H&TT TR & TR & |
(D) il shedaT ST § fereror & it 2 |
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(C) Teremeft & aer weryfa Sraer & fhan 9 |

(D) heTT T 3fra B saw Y 3T il I |

Terganeff & v shteret foefer i 7q 3@ U 2
(A) TEIHTeT 8 Heffd J&deh o, Te- 37 3TRrm sravass amft @ 1 STaer fearm < |
(B) 3T&ATIh g JTRSROT < & &l fean i |
(C) Teremeff 3131 wrog S=mmor <t 3T 1 9 |
(D) 3TEATIH GRI YAYEh AGRR 8| Tl I |

ffriga o & wrquTe fe=d fregor 61 v 2
(A) e ferfa ot srasmiedr | (B) @it bt 31frehan
(C) EREEE! H1 39T (D) &< Teapa W 3hi I R # |
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SECTION - 11
LANGUAGE -1
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Which one of these is not a Quantitative Techniques of Evaluation ?

(A) Oral Techniques (B) Observation Techniques

(C) Practical Techniques (D) Written Techniques

The technique of evaluation that includes certain statements of Yes and No type is :
(A) Check list (B) Observation techniques

(C) Rating scale (D) Anecdotal records

Which one of these is not a function of CCE ?

(A) Children can know their strengths and weaknesses.

(B) It provides the child a realistic self-assessment.

(C) It does not help teacher to organise effective teaching strategies.
(D) It helps in identifying changes in attitudes and value systems.

One of these is a feature of formative assessment :
(A) Itis an assessment of learning.

(B) [Itis adiagnostic and remedial. R
(C) It is the most traditional way of evaluating students’ work. ‘Eﬁ

(D) It is generally taken by students at the end of a unit.

Functions of evaluation are :
(A) Diagnosis, motivation (B) Diagnosis, prediction
(C) Motivation, understanding (D) Teaching, learning

Read the passage and answer the questions (Q. Nos. 36 to 40) that follow :

Why do people get stressed ? Adolescents are faced with the demands of their
developmental task and that of a complex society. They need to acquire skills of adjustment
to emerge into adulthood unaffected by these demands. If they lack these skills or if too
many demands are made on them, they fail. Students are anxious, as they are worried about
whether they would be able to live up to the expectations of their peers, parents and teachers.

Optimal anxiety motivates and keeps them ahead while over-anxiety is disabling.

Anxiety is contagious and passes onto other students, teachers and parents. Adolescents,

when stressed out, tend to perceive everything as an emergency.

Choose the Synonym for the word ‘emergency’ :

(A) exogamy (B) exigency
(C) exequy (D) exemplary
Choose the Antonym for the word ‘optimal’ :

(A) enamel (B) decimal
(C) unideal (D) imaginable
Choose the misspelt word :

(A) percepsion (B) motivation
(C) complexion (D) paternal

Noun for the word ‘developmental’ will be :
(A) develop (B) developing
(C) developed (D) development



40.

41.

42,

43.

44.

4s.

46.

47.

48.

Choose one word for ‘a disease spread by direct or indirect contact of people or organism’:
(A) complexity disease (B) stress disease
(C) contagious disease (D) fever disease

Read the passage and answer the questions (Q. Nos. 41 to 45) that follow :

Education as commonly understood by people means acquiring certain knowledge
and skills in order to earn their living. But that is only one purpose of education. You may
ask why ? This is because humans are much more than just wage-earning machines. They
are endowed with emotions and feelings which enrich their life. These emotions and
feelings need to be developed so that they can develop into social beings, able to interact
with fellow beings who are also members of that society of which they are a part.

........ in order to earn their living. Here living is :

(A) anoun (B) anadverb

(C) anadjective (D) averb

Choose compound adjective from the phrase ‘wage-earning machines’. [
(A) wage (B) earning — machines &
(C) machines (D) wage — earning

Which of the following phrases has a determiner in it ?

(A) acquiring knowledge (B) They are endowed

(C) humans are much more than (D) You may ask why ?

‘Education as commonly understood by people means acquiring certain knowledge and
skills in order to earn their living.’

Which tense is used in the above sentence ?

(A) Present indefinite (B) Past indefinite

(C) Past perfect (D) Present perfect

Which of the following has the three degrees of the adjective in their correct form ?
(A) common, more common, most common

(B) common, commoner, commonest

(C) common, commoner, commoniest

(D) common, commoneer, commoniest

Choose the sentence which is correct in structure :

(A) How does the world tending to become a unity ?
(B) How is the world tending to become a unity ?
(C) How will the world tending to become a unity ?
(D) How did the world tending to become a unity ?

Choose the correct option to fill the blank in the sentence given below :

The wounded man by some boys.
(A) were being helped (B) are being helped
(C) was being helped (D) will being helped

He said, ‘Be quiet and listen to my words’. Choose the correct option to complete indirect
speech of the above sentence using phrase given below :

He urged them .

(A) be quiet and listen to his words ~ (B) to be quiet and listen to my words

(C) that be quiet and listen to his words (D) to be quiet and listen to his words
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Choose the nasal’s sounds :

(A) [m,n,q| B) |Lp.t]

©) [w,j,z] D) 16,9,

Choose the correct phonetic transcription for the word ‘Kimberlite” :
(A) |‘'Kimaoblart] (B) |‘Kimbalart]

(C) |'Kimbarlart| (D) |‘Kimboloit]
Grouping and sequence are involved in the principles of

(A) Habit formation (B) Follow the natural way
(C) Controlled vocabulary (D) Gradation

The teaching material should be in accordance with the mental age and should have
relevance in real life situations. It is main characteristic of :

(A) Principles of Selection (B) Principles of Habit formation

(C) Principles of Gradation (D) Principles of Controlled vocabulary

In which method Mother tongue dominates in the teaching of English ?
(A) Direct method (B) Dr. Michael West’s New method
(C) Translation cum Grammar method (D) Audio-Visual method

Dr. Michael West’s New Method is based on the principle :

(A) Priority of reading, separate provision for readers

(B) Priority of writing, speaking EEE

(C) Priority of speaking, writing Eﬁ;ﬁ

(D) Priority of writing, separate provision for writers

Which one of these is not related to the Direct Method of teaching English ?

(A) It is Natural Method also.

(B) It is Mother’s Method also.

(C) It was approved and spread by International Phonetic Association of France.
(D) This method consider visual appeal over aural — oral.

Which type of reading is also known as rapid reading or independent silent reading ?

(A) Extensive reading (B) Intensive reading

(C) Library reading (D) Loud reading

Which one of these is not the method of teaching writing ?

(A) Tracing method (B) Free imitation method

(C) Intensive writing method (D) F.G. French’s method
Reproduction technique, Role play and Performance are the main techniques for :
(A) Reading skill (B) Writing skill

(C) Speaking skill (D) Listening and understanding skills
The speaking and listening skills are developed by using :

(A) Flannel Boards (B) Pictures

(C) Film strips (D) Record-player

Language laboratory is a very popular technical innovation. It is derived from :
(A) United Kingdom (B) America
(C) France (D) Germany
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SECTION - 111
LANGUAGE - 11
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

Which one of these is not an advantage of online remedial education ?
(A) Gives a sense of isolation to the learner.

(B) Elimination of barriers of time and space.

(C) Ttis cost-effective.

(D) The instruction pace is flexible.

Which one of these is a disadvantage of online remedial education ?
(A) Itis easy for the student to navigate information.

(B) No technical support from the instructor.

(C) A well designed online course makes it easy.

(D) None
Continuous evaluation is basically : s
(A) formative in nature and is school based. E‘ﬁq

(B) summative in nature and is school based.
(C) formative in nature and teacher based.
(D) summative in nature and teacher based.

Which one of these is not a merit of Group Evaluation ?

(A) Different learning styles cannot be evaluated.

(B) Students learn in cooperative manner as they help one another in a group.
(C) A healthy competition in a group motivates them to learn.

(D) None

Summative evaluations :

(A) Provide the information on improving a product or a process.

(B) Provide information of short term effectiveness or long term impact for deciding the
adoption of a product or process.

(C) Provide information about teachers and what they teach in the classes.

(D) None

Read the following passage and answer the questions(Q. Nos. 66-70) :

Lack of control by parents is also harmful. If parents do not impose any constraints on the
adolescents, then they have a tendency to go astray and choose the wrong path, and later
become difficult to discipline. Such adolescents feel let down and think that nobody cares for
them. Hence some discipline from parents is necessary.

3

’ may be an appropriate title for the given extract.

(A) Discipline (B) Adolescence

(C) Lack of control (D) Tendency to go astray

Fill in the blanks with appropriate linking devices which are given below (for Q. Nos. 67-68) :
adolescents their friends feel let down and think that nobody cares for them.

(A) Both—and (B) As-—as

(C) So-and (D) Though — and
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They have a tendency to go astray to choose the wrong path. (According to
the passage)

(A) neither — nor (B) either —or

(C) not only — but also (D) so-—as

Adolescent as well as his friends let down and think that nobody cares for them.
Choose the appropriate verb to fill the blank in the above sentence :

(A) feel (B) feels

(C) s feel (D) will be feel

If a Guardian not impose any constraints on the adolescents, then they have a

tendency to go astray.

Choose the correct option to fill the blank :

(A) have (B) are

(C) do (D) does

Read the following stanza and answer the questions (Q. Nos. 71-72) :
‘Give me a flower delicious as the rose

And stately as the lily in her pride’ —

But of what colour ?” — ‘Rose-red’, Love first chose, [

Then prayed — ‘No, lily — white — or, ‘both provide;’ &

Choose the correct rhyme scheme in the above stanza :

(A) aabb (B) abab

(C) abba (D) abcd

‘Give me a flower delicious as the rose ........ > Which figure of speech is used in this line ?
(A) Metaphor (B) Assonance

(C) Epithet (D) Simile

Richard was a lion in the fight.

Which literary device is used in the above line ?

(A) Simile (B) Metaphor
(C) Personification (D) Alliteration
Choose the correct figure of speech in the lines given below :
Pride goeth forth on horseback, grand and gay,

But cometh back on foot, and begs its way.

(A) Personification (B) Simile

(C) Metaphor (D) None
“Betty Botter bought some butter .......... ”

Which figure of speech used in the above line ?

(A) Simile (B) Personification
(C) Alliteration (D) Metaphor
Choose the correct modal auxiliary to fill the blank :

You improve your spelling. (necessity / obligation)

(A) should (B) must

(C) can (D) might

What’s the good of entering into negotiations with ‘a man of straw’ ? Here ‘a man of straw’
means :

(A) aman of no substance or consequence.(B) a man who is made of straw.

(C) aman who is light in weight. (D) aman who strays here and there.
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A poem that has 14 lines, each usually containing 10 syllables, and a fixed pattern of rhyme
is known as :

(A) AnElegy (B) Limerick

(C) Ode (D) Sonnet

On the approach of a policeman the bully ‘showed a clean pair of heels’. Here ‘showed a
clean pair of heels’ means :

(A) ready to clarify (B) he showed his shoes
(C) ranaway (D) walked away

Which one of these does not belong to an elegy ?

(A) asad poem (B) mourning poem

(C) emotional poem (D) ajoyful poem

Choose the bilabial consonants :

(A) [pb] (B) [td]

©) [tf] D) kg

Which is lateral consonant ?

(A) |m]| B) [1] ,
(©) In| D) |w] g
The symbol of underlined letters in the word ‘Ship’ is : [=
(A) Sh B) S

© J D) o

Phonetic transcription for the word ‘jute’ is :

(A) | 0wt | (B) | dsut]

©) [jut] D) [zut]

Phonetic transcription for the word ‘wreathe’ is :

(A) |ri:d | (B) | wri:th |

(C) | wrd | (D) |reoth |

“Important principles may and must be flexible.” Who quoted this ?
(A) Woods (B) Washington

(C) William Weak (D) Whitestone

Natural order of learning a language is :

(A) speaking, listening, writing and reading.

(B) listening, writing, speaking and reading.

(C) listening, speaking, reading and writing.

(D) speaking, listening, reading and writing.

Which one of these is not an element of communicative approach ?
(A) Communicative approach is practical in use.

(B) It develops the speech ability.

(C) Itis not practical in use.

(D) It lays stress on the functional value of the language.

Which is the latest application of teaching language ?

(A) Structural approach (B) Communicative approach
(C) Project approach (D) Inductive — Deductive approach

Choose one of these which is not a remedy to resolve the challenges of teaching English :
(A) Provide certified and qualified teachers. (B)  Building Rapport
(C) Building Confidence (D) Use only one method of teaching.



61.

62.

63.

64.

65.

«ue - 111

HTHT - 11

37 i e | |

T T THTEAT: |
I HeAThe e THTSHERIAT Jaq ?
(A) &= (B) IE<TH
(C) wIHIsH (D) <UE=
BT AR, Flgohiver, HrRmfwe o9 e ?
(A) wHIH (B) vt
(C) aefeame (D) TTEITEHA
Bf:, Iy, e 30 79 faea: S fagm == 7
(A) WiRewerre fagm (B) Safderfirram: faga
(C) ARG (D) Tsramsficrarn: srame= = fagm
STSTCIIRIATST: 31T ATeId HINGehUIE: T el ST aHaTec 3T ?
(A) HeATgTH (B) U=
(C) yHI= (D) WYY
ITATRTIET BT TG HUTT —
INIREZICTSINES (B) des:
(C) diar= (D) EIIRE

frferiaas 3Tafsd e SMaRieE T (66-70) FHIST: -

Fifer foemerest faely @ @a=ariead: Heal ScaeH auRisad | Jeaanis: foee e

@G wafd | ST 3d quoesd UM USHide!: diefadr: waf=t | Jema=
CISTRIGU] AT | T IS T | AiTehT: SEBERE Ufdagl: Yeade $ai | geas
yomf | Terfta TR |

66.

“Tgar e o1 fowfeda: 7
(A) =geft (B) e
(C) w¥mE (D) vt



67.

68.

69.

70.

71.

72.

73.

“CETIGUH” 30 %: | 7

(A) FU-Hi: (B) et
(C) FrricEf=: (D) TR
QI 33 &: THIE: ?

(A) HHLT: (B) IR
(C) deges: (D) &%

“qUTf eI h: TTBIN: 7
(A) T-THR: (B) g-ehIL:

2

(©) TR (D) THe-eTHR:

<

TUTHTAT: TSHTRIhT: IRTfoTdT: Wefed |

e e fersrsrdey srfed -
(A) TTOHTT: (B) wftirferar:
(C) waf (D) TSI

FrfeTiaad 3Tafed SrpmaTiehe T 1: (71-75) FHTET: —
33 HifhafafeaaIsHuat,

off FHFARUITEET T |

FFAMTEATLT JTEGeeN ||

“33@3[”3@3[35: gf=r: 7

(A) dEat: (B) glgara:

(C) ol (D) TR

“FIAITEAE e | dd -

(A) qdqgey: (B) wEsifa:
(C) 3r=fivmE: (D) &%

“IUTATH” §eIH o: T+ ?

(A) =adg (B)
(©) = (D)

o



75.

76.

77.

78.

79.

80.

81.

82.

(A) STHAER: (B) favremTeisR:
(C) TAYTAIER: (D) SAfHAZER:
g velieh foh B 7

(A) IUSAT: (B) EfdeTeht
(C) wifer (D) e,
“54” FCANT AT HEHd I ?

(A) =d: G (B) wgdeme
(C) FTHAATI (D) SIcIR: SR
TTd: (6:45) TTe FATE: wafd — 31 I Wafgd Tmem 31eR: foramg -
(A) HTY-FETe (B) HTG-HwdTG
(C) WEH-FwEE (D) WIGH-YgaTeA
ATETIRAY BEaEa: |ixd -

(A) g« (B) @I

(C) = (D) u=a

HEHA STATE Hod —

“39 e A foren g & 17

(A) o ToT foren wafa | (B)
(C) T= T foeri vy | (D)
“T HRE IHARVEIHH 3 -

(A) U3 (B)
(C) ey, (D)
T HIE IHRUEH farerd -

(A) iRt (B)
(C) wut (D)
&l AT Hiwl” TG Wrerer=d Heaifd -
(A) T HA: T | (B)

(C) J&T e I | (D)

T T T wsf |
afer TR feren wg |

g«%ﬂ%ﬁ:‘{qﬁl
& HATH I |



83.

84.

8s.

86.

87.

88.

89.

90.

TR TN —

JATd ST A= |

(A) oI YT A | (B) U™ IgYl AT |
(C)  Toor e A= | (D) 4 F/gi = |
“FTeH BIRCE I

(A) w1 (B) st

(C) wra (D) <A

HEhA STATE FHod —

BH T[E ! THEHT i |
(A) =T T | (B) & T& TR |
(C) =T M: | (D) o9 T%d TG |

TUIHHATATIIG A hEA (e : T M Fdd -
(A)  FAefaa: (B) =R
(C) wAf: (D) HuTfae:

HARSH, 3TaTeH, Jea1 IH: UM,
TG YRV & HE hINTATERIHAT Wald, ?

(A) TSTHITH (B) HAUTRISIER

(C) TGHITT= (D) TSI

TR IE0 JETaT, Toreeiaemos, e, amT=fehton, e % 99 g af< ¢
(A) wmEefee: (B) VUSRI

(C) =ATEATfaY: (D) T@Efafae:

IAThHTH, FATUTH, TEIHT 9 huaeefientonai i faf: o« garfd ?

(A) dRRTf: (B) dTefaarefafy:

(C) STy (D) SATTHAT:

FEHATITRIETR 30T SRIFTIERUT GYaETeH wafd -
(A) TIGATETHR, (B) Hiqmamery
(C) UEHI=H (D) ITehrRTETfl



PL-2 (48)
I -
- lJ

Yl
- du/c«l:'ﬁﬁ c:«JJ‘rrV“_uj Z{_} = Uy (30) duf,‘ Uﬁ"ct.f!
g e oz Z?ig; U L v,
v B U T 5 8

st (B) oS (A)
< (D) /3/@/?«;5’ ©)

Co Irali K L of € G S E Ul

LS B) 25L 2 (A
= Jiek (D) S (©

NP AT ISy N
ted= B Ee i ()
E UL ar (D) e (©

‘Ld/)/iéc by ?+ L:Cla gd)d“/:’/dzﬁ/d/u’l/:ltan/ufﬂgf:f
Jsdve (B) dsek (A
Lspn (D) LB 5k (C)

o Gt F 50 Sl eIy
b $PE (B) s A (A)
Vebnd (D) ebs$1(O)

.61

.62

.63

.64

.65



PL-2

(49)

D

1 M2 (106 66) =Vl & s S oy S UEEI 5 e

G b Uy £ 1 et LT 6 U I L oy on U U S 1984
fene =il Jf&"ﬁ)-‘a J,u’u/? J{f/éugdugwufgdm,u!év
e 0L A &S &I Ut EL U1l sl gt Uslz L3 & 1l U
s L EL T G PAP me Sl Ly H oy
e RS Tt g 85 1 gt e S

U3 o4 (B)

P

te 5 (B)

g7t (D)
1983 (B)
1988 (D)

)
)

Jo (B
£ (D)

te Ut UL
UWU (A)

J (©

‘Jz&;ﬁé (:{0L’”
b (A)
s (©

* e o A KT ot
1982 (A)
1984 (C)

e Ut & U1 B I )
Jo @A)
L (0

Ce 2lJ U:’/uf&u"-c‘_ éﬂ/l&/,’ d"‘fuﬂ/{
P
K ©

.66

.67

.68

.69

70



PL-2

(50) D
Z e L (156 T) e e & s oy S 5 e
R G Sy i S
&= fee g bt F e
O i L
e fadp W b e S
F S uisp ip (’Z S Uil = U
e fe A S f
SKoe foubs Sogn gl f
e fe U =St £ o

€ W FEL B ne TN
b s ®) NESNON
Spkes ) wieF(©
St S Ko S Ut U1 e e fe e St fr sy 2
g ® RN
(D) S (©)

CUEL e 3

=4 (B) TN
Jit O )

e A T A
¥’ ®) VS
(D) ¥ (©

<3

4

?‘L gg(iéj/“ﬁu/;/‘au:&%‘.b‘?‘a d/l/]?h:d/’j” 75
» (B =f (A)
/e (D) S (©)



PL-2

ol

bse JP e

b Ut UL

W £T
[;f/ KUy

(31

e eSS - L UEIL Ui

(B)
(D)

(B)
(D)

(B)
(D)

c‘"_.:ﬁ’ui’/ju’l
S (A)
(0

o

gL Ly
b (A)
S (©)

%Jy'y/bédﬁd"
et SE(A)
tbslse (C)

o O et s b 88 R AT U3 L T v W Pt s £ 51U v

g
¢ sls

(B)
(D)

S (A)
L (C)

uzé:"’:/;v‘w dbng L;éwéﬁLl}L//:U;:«i

A

M
4

o/{f‘
u’)l.ﬂ

Ty
FA

(B)
(D)

(B)
(D)

(B)
(D)

S8 @A
Ll (C)

& (1

ST (A
Gr1o©

bl L SEIR L

S (A)
N

76

g7

78

79

80

81

82



PL-2 (52)

?9/60/“3/”
v (B) SEL )
0L (D) ()

U o §E L LS T (e
kb7 @) a7 (© £ (B) SN

S SRl T

ek 57 (D) 23 (0) 7 (B) = (A)
L L

AEA L e B e te STt A S e (A
JEFAESWHE D) JE e ©

Ut et £ 422 L

PV AV ST :) et S s §F (A

fﬂ@gjﬂ (D) }'ZJ;’}Q;'LU}?.}LJ/SULC’ ©)

Ce br LSl L e

§# (D) <7 (©) 44 (B) £ (A

cnete S L0 S S Sl U
g¢ ® U (© ~W (B) N

e S e QU L LS S 5 5 LT

Le @ < (© S B o (A)

83

84

85

86

87

88

89

90



Que - 111

WTST — 11
fash
FA 30 AT MR |
AWE FaTet HL0T &) IR |

61. RN vgur St fmEn @ wITd T A8 AR 9t gl —

(A) s (B) wmgsita i

(C) formmer# (D) BeAH

]

62. UTSISHA JTRuT H T @i 3789 & feot — s

(A) IREE (B) fareror farferg.

(C) Tamsn3ew™ (D) e wrHft
63. Tt feranfig ™ & sreeht € wigaer ol ST wet @TsY] e 318 —

(A) dTg-foerg (B) @I-SrE

(C) HISTshE Si AT (D) B
64. Y Fie IR0 SN YR 3R —

(A) IS I (B) e A

(C) I UG (D) dfteh AT
65. TS afdd AR @ o formr © Wiftges garer gav o1 g 7

(A) TRy foraf o | (B) SR STME | @ T |

(C) Trfiuer @ g1 & g (D) IR @ 38R 0T S Hiehl firet o |

gfea 2fertt ugt feet garertr s st fe=i — (66 @1 70)

T T&e goob S @HIeh T TI9TTeh ST 3TTEEa] o GHERIE 3118 | TS S 9ee 3Afeshat 230 g9R
IR 7 | Fefa giee fem qoss 1 9 wiet snfef fagp IR IeEer wre ferit gfaw Sfie wre |
3RSl WIST W IR GIF 37, Sl § A S@ifd 3Teha INE 3= 79 off 7o | 3fiRg WS it
i Srfeehet Sarl g offd) | dfe ot 2 afer] 3TTey g-diar WIS H o 17 | SfiehR U A€ot 078 d o6
oo fged | I, ¥, 38, U Il | ARETS W3 HaTg, UIs SRqL Hemll A Hop aiieh 37e1g U
Feffh HI3TT | SR S IR Tt 7GR 4i1g I far i o1 @ | sretar femed § =nfy 7e siei
Jrfeehat 31eTs W HIvg AT Wi TETd) U STeHYHMIST I o) @1 I e viet aefis gat 318 W
wifecd, sfagmd, A S Afd s giafe qrare darg, R, s¢t T S avgt e It gign
SRR 9 wret | 3ter 9 Wi # AR S el i U wrerty St @ R S s | e wfe
for arfe @t areht wend, et ¥ wurfer | fomm § aeng T 3en  Sperf <t farg 1R |




66.

67.

68.

69.

70.

71.

i gient SiT 3eITq 318 —

(A) HERTSg (B) Irqm

(C) T (D) uSE

‘%’ Sft g 3T —

(A) @i3f (B) TREsH

(C) e (D) TG

Freter Tarmee # =il 7t 3iei HTUg o1 @ |

(A) T (B) e mym
©) W (D) @ e
& U T Wl ofet | fed 9t U S frme smfef —

(A) ¥ (B) TN

(©) sz fm (D) T

ST 3 e @i ST aefieh a3t 31 |

(A) 3W I (B) 33wl

(C) shaushirg (D) sfgu sereal

3fs Tt et gt garats s stame fgar | (71 @1 75)

qE S yat o Sife At o,

fe Tgeft mmoft wem 31z g |

S 31 afe By, =R s,

% TE%, De]-HId, 2137 Hfctehad el |

qEHha B3 it ol feafd e,

T off vad) fem St et |

¢ Toeh f&ATd |1 AT St T,

SIhEle S 7 99V UE | HEl |

B BolG I BS S ; O hicAH,

i GERA | IS @S T |

Tt mfer i sheff 318 —

(A) o (B) 9w
(C) TEmd (D) 3Tmm



72.

73.

74.

75.

76.

71.

78.

79.

IR Bigw FEeE St W 3R —

(A) T F (B) "R B
(C) HAR BEY (D) T By
%@ 5 i T <ff =t | (fere o i)

(A) fea (B) T

(C) Teama (D) <=

T st T off vadt

(A) & (B) =g

() ™ (D) =oft qaet
‘FST A S HHT AT — E}EE‘-
(A) 3@ (B) @

(C) g (D) 3T

() w@a foad ufes oa I SR g feredt afes o |
(i) cuEaT forgur S forar o sreea @ e Sfer 7 wheft 3R |

(A) (i) 5@ (i) T (B) (i) TTerd (i) @&
(©) (i) @& (i) T (D) (i) 7T (i) T
“TY I S AT TR |7 TR R S —

(A) 3MgshX (B) T

©) (D) =eafa
gfean st foreman —

(1)  Bewd (i) wRm

2) @ (i) &®

3) ®F (i) DR
(4) ISy (iv) @
» @ G @
(A) (i) () @G (@Gv)
B) (i) Gv) () (@)
© G @) @@ (@Gv)
(D) Gv) () @) (@)
2fs fever otwatt o o mifaa 31mg -
(A) BB (B) M
(C) =i (D) R



80.

81.

82.

83.

84.

8s.

86.

87.

88.

89.

90.

ey’ <o =i firg 318 —

(A) HETSErT (B) & S@RY

(C) G feam (D) TR

g o seare o Taafed e fafust @ wikier gam ¢ i
(A) @rorh feafa (B) = ferfy R
(C) gererd fafy (D) st fafy

“Ba e FeTue” IR —

(A) TS 3Ta (B) " Sl 37&T

(C) TSI T 31§ (D) e Tfiafa ST 31

38T &A1 AT 3T Sife o =R H ga o1 shfE Tehrae g At anfe ffet oft dfs @ w5t o -
(A) T 3o (B) &% Tl

(C) TH™ (D) &%

“&1 91 Aidiee gRae! fedht g Rafy | firdmer g -

(A) fowd zaf (B) fowa st

(C) Tohd weeft (D) Torwa e

“GfEN TTiE ATE” 3T @ hiedt i § Sfgat Tgufy g o -
(A) wsAd (B) U

(C) @it Eg (D) & &g

geft, ST TTeRTSY &, gEle ol | St ferarmena ST feremmar forg o —
(A) fergm (B) ®HS

(C) =W (D) U@

TS fer@uiiat § GERI S0 |erst A7 —

(A) GraEdist & (B) e feharer wergur @

(C)  Shferell =rermgor | (D) et gerso @i

TGN ST AT 3] —

(A) Trefaet ar o (B) er-+el i@ for@

(C) gfewn w@ @ (D) T ETféret s aTfear shiv]
TR TR S Frrerf @ Tgee e omg TEr g8l —

(A) TEETEMN ST (B) i feparay <

(C) s < (D) Tfesherta S

Teep et e @ febere ® St UTeUT Wi Rl —

(A) o it ot shoft v oft | (B) YU ASHEH o freft Tgvm et o |

(C) I % &4 f&aon ua o | (D) IR @ UTUTE UGUT g IR LTl U T |



61.

62.

63.

64.

65.

CESS 1|

s 11

Urre
fernd3 e I8 30 yHs I3 |
I YHE I3 Agd1 I3 |

MU T T IS TS ¢

(A) TIAYTS, BIALT, AIHSST |

(B) »AUHS3T, B9dwd, fefemmadht dt safledt 2 var |
(C) =% niftiud Tt grafterdt, Suae™a, MATHSS™ |
(D) &3, mMmfmesT, fefanradhut &t gafterdt @ Ha |

“fEgmmes’ fame mufonr Ifenr U J -

(A) FEs (B) IHE

(C) megddy (D) AHES

YA 29 mimesT J<4ft

(A) 99 YFs T UTT fers I<9T | (B) a3 YHs BT WS MAUEE J29T |
(C) 99 YHs & U 8T J=ar | (D) 93 YAE 3FAJTE »i3 niyHfdd J&ar |

faaat Yifan B2t yrs- U39 o fagHearad Rur der J

(A) wif3-my (B) fadusfia
(C) ®Y-yws, §39 (D) =ngfers
Hoigs T e & I

(A) fefonrgdn T Ageddt feam a3 |

(B) VI35 US-daH GUa ufgar o |

(C) THfa™ Iraa € Yo" Y2r& J967 | [
(D) fHftmir Questinr = wigs a3aT | Gt

I fed Ug S UI I AT 899 66 3 70 33 < §37 e :

NS WTHES W W3 ¥IY fai™e I8 | W& © we™ 29 fagfagmus »r fapnm I | ant g

HBI'6 IfIS I9d BT Tafgnet 3 feger I famrm I | »ddt wirgfadsT Wy © I &t mret | feagnus
B et ATV g fapd™ T, 7 afimiT T 3796 ST I | HEY &S §H & aHT g9 J | B It J fa



66.

67.

68.

69.

70.

=faH HeT T FA A& 9 He J ¢
(A) I3, Tl (B)
(C) 9N, fewe™r (D)

‘TH’ WS T IOHIES HES &1 J

(A) HoTE (B)
(C) y+ft (D)
fagg Hee ufgar I :

(A) fa (B)
(C) &< (D)
‘wHes’ @ fedtt aae I

(A) aH™ET (B)
(C) U (D)
WMI3I BT I SfenTHaE J

(A) HI3 (B)
(C) =37 (D)

J5 fed rfe-de S ugd, AT® 699 71 37539 € €39 @ :

71.

AT3IT &8 Yarfentt it Ju Afar gvas I 11
78 I3 go feafen 379 U »Ug udn 1|
i g9 figaredt 9&t 7fe & Uifa 7o 11
78 g7 U9 ufq yam wimrE grufe i 1|

g wmAfe A8 7938 & a7&d M W3 7 o |1
wfg wfg »iefg goHAs 3= 93 mer faim |1
g9 379 9719 919 &8 Hfs fygHt mem anrm 1|
JIHY IS T Ugare I ||

Caz afe-deTradt J:
(A) FEtgge™ (B)
(C) I rigrs <=+t (D)



72.

73.

74.

75.

76.

71.

78.

79.

80.

81.

Iz afe-deTrafe-gud:
(A) wEeU=t (B) wu<
(€ =7 (D) w3d

YBAT HEL 392 J :

(A) ufewr (B) ufemr

(C) uBfm (D) &

Caz afe-de o nizdd g=e §u I

(A) HIATIIS (B) 3fonf = fgus
(C) I 5&d &= I T HGH & (D) J&J T EJ GAS

Frfe-de WEH'S Ig &7ad ©= 1 &7 7aH Jfenr :

(A) wfsgarfes (B) w@wdfey

(C) FTuafs (D) eI yarfeg

Mg IFTIEI § 3 I T AT E »rEs T At migg g<

(A) fidt E I mreg fhser I | (B) STt dar meg iz J |
(C) It fogeg fHserd | (D) »fidt S fageg figerd |
“ffE SIS Ho=d Tr g »dg J ¢ o~
(A) e (B) ITTI@s gk
(C) HIT =TT (D) €3mg=uger

HT3TT & g 3 Ul ARt § faas =9ar feg S aier J ¢

(A) By, <y (B) €9,3

(C) HI9s, fuss (D) €<,4&

2,3%,3, sfolas 05

(A) =5 (B) wIusdt

(C) = (D) YyIuat

33 T Ug 3 T A& fam 2 J2 I5 ¢

A © (B) 979

© fIs (D) A

Fet Frfe-gu = AeH fan fesra fig w3 fagdt Qusm feg 7e 3 ufost Ifen :
(A) BT w3 Ysgdt (B) HZ3& W3 it Qusmar
(C) WS w3 HBIET (D) »if3Hg w3 Wit



82.

83.

84.

8s.

86.

87.

88.

89.

90.

nif3aEat T Y <9 Jor I

(A) =85 (B) IH3IT

(©) u3d (D) w9

Hogme madg=d:

(A) G379 (B) 39

(C) ¢u (D) fonraasT

et aIs fiw &9 s 279 <t Gt Anfas <t fagdt ag SHat I :

A B (B) fe=et

© fer D) f§

J& fefmit 39 fagaT fdm fenfgzs wdt <1 Gegas J ¢

(A) Jlo-=heg (B) HHt-THH

(C) dg-=fam (D) fHoa-Uig

FHUS-UAII T III IS T E'%
N [=

(A) sH (B) w3t

(C) fas= (D) fewr-z=Az

‘SH DT e & fedft s wifus © faas fra's Qua wmarfas 9 :
(A) wefeasT = fAui3 (B) Sovs e fauig
(C) Sewfaus (D) fafgnrfiesT o fagtg

TS Ans © feam dhort fafenet feg wriis-af T -
(A) yIfen Gug fauer (B) sWHS
(C) »nurt JizE3 (D) &3 fous

gfgnrt § fedftes a1 5 foue fmmSe &t At vreme 3
(A) fius &t fanrt (B) HYE JI&' 3 T IJI&"
(C) »iygidtags (D) P 3 MaInd fous

“meet T BI-5% §979% 97 AT Tt War3T, 96 I 993 Ao fermstet feY frigg i

J 1 —feggus fan feges o I :
(A) (B) 3a3Hes
(C) dJudls wiaad (D) wfig



61.

62.

63.

64.

65.

s —III
GUNL— 1T
SREINI
L HSHL5E 30 WHL .
&8 UL ovellod 2L 5 [r1d 9.

ALl HeUist HI2 Gl UuA 53 6 ¢

(A) GRR=A[ (B)
(C) [Asrubst (D)
AR 2ALcHEEd] UsAAL USIR SALE ?
(A)  HUBAGR usR (B)
(C) olgldsed usi (D)
HUHS 5121 A2 $2L ALetAAL UL 0§ ¢
(A) ALY sl Balanl (B)
(C) usyR-l (D)

AR At HeUis HI2 53 (Al A ¢
(A)  Ucd HeAisA AL 2id AU 8.

LSS
$H HIUES

[Qots usIR
HU B B UsR

As(GreAl
[A=lataiAl

(B)  cd Heulsll [denel-l Aot g3 53 asiA. mm

(C)  Udd Heuls 3l (et ugld 8.
(D) o A5 =2AA 8.

¥
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st 22Ul Sl i AR 58 CAlotd LA Ul ¢

(A) S, [Avarq AU USSR  (B)
(C)  [Aznell, weeryras 201 (D)

([cvRiard, WeyRds 2 s
LSRR, AL A WA USIR

A2 ALUEL LUAL PR USASHIS 66 2] 68 ocllol ML :

AHA HOR § AMEL AL 1L 7 ¥ AL 2AlAE HeA s AH AU A BH-EL AL BARL W=l
S8Rl LWL 2R 2B 531 HE Al 6. 3332 YeR gatld UA-I2L Al 2ddl Glru-{l=u
Yelsl. suis clldlaRlaon YeR vical HelAL AHEL suis id; sl Elsdl-gEdl Bled DA L ueL ¢
€95 XAl 22al §EARL Uls A HleL oill A 6 A suls wSlow Y2 IR 1R a 8. 2l U 8l !
YOLER WAL A8 6. Ul GSIElz dEl ©. SR ARUWBLAL 8L oL vssL 94231 Ald dddl

Uelle. UgAl A AlsUASRAL ot o Ho 24
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‘gl oAl 2l aroudl.
(A) S 2AMAR (B)
(C) 685 MR (D)

el AMAR
lldndl ANMAR
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AlEAL AL ASLEASIR SRl 1o 5241 AN UL © ¢
(A)  8lsdl gEll AgldL ualsHl (B)  ARAUULCLAL VS5 A2 2l UdlHL
(C)  ARELAL el UAUSHL (D) Uil AUld UMl

GuRlscl UM e, Al SRAUMI UG S ¢
(A) el (B) sl
(C) Wil (D) AlsleR

AR AL YELALAL LR UPASHLS 69 AL T0L oredlod DAL :

69.

70.

71.

S SR S WA R HIEH !
51H 53 8 M),
ALASL HI2L HES UMRLL
oled ollow) 565 =Ud 7 R HE.
ViR WSl 531 {1 ALl
Ol R ABRYAL AR ;
HIL € EU ALY HEAd HWAURL,
B2l HOLWAHIR, 3 A,
oldsleL iR 4L gL vleadl s
493 €l & IR, R HIe™.
Gl eLulel dl 2ATEUHL o1 A
A5 A& 0 51 et
5L BUR 5% SRUH
sl A2t olld, 3 HIE™.

L 2L 2AME{L WL g Hd(L &L & ¢
(A)  HeAd DR WA (B) ™Izt Gl ¢ldle clsl.
(C)  AUGURL HdAd vl (D) Hot 5RL0L BuR 5L

L B 56 U veell s ¢
(A) AR HOES WS BAugd KA. (B)  AglAlAlL AR otlllA.
(C)  A8l2AlAL Al Al s (D) esui elld U Al2islA.

A2 2t Qe YRuas A (e 538 d ovsudl.
(A)  WSCUY) Adl HEHL v 241l (B) a=ileldl e .
(C) AL Yrels AL 51 M, ¢ (D) uRuR ildall 2l dl vl 28l
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Al2AAriell 53 (et 1 6 9

(A) ‘el SR 2AlAHL 2 6. dls Ts(ed il 2.

(B) &L, UH, Well, ell IR ystAl s 8.

(C)  UCEL, WCEAHEL AAAL O AAUA Al 51 el Ue [l 58 €.
(D) A% UdARAL AL QIR SRR UE (ML 58 8.

‘(QereAl HEHHL A 6. ML BuQgieL-l usiR oveudl.
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AP 2 S2UL 6 LR S ¢ EE
(A) Rrowrel (B) Helsil O
(C) A (D) el

Al 53, [Auitrd BuHL AR ¢
(A) sl Hut s ¥ YR 6. (B)  &Hdld Hiis Yer 8.

(C) [daR12 o3l weell il (D)  sHAdd ARl CAleAL U Rl

‘A AR &3 AL URS AURUAL 56 €9 9

(A)  axrel el 2Ry srial. (B)  ([[euell duirl 12 2R9) 524

(C) xRl 21R%) sr1s1dl. (D) ¥ [Qenad WA 2R sl

LS YR AR AR 53, R TURLE ¢
(A) el (B) teuldrM
(C) tdlar (D) Rl Rugrt

AR et 00€ SAL S ¢
(A)  sRldl (B) slva
(C) UM (D) 5048

AU, [Aeilsd, (LS s101 cselldl 5R81R UM el dall e 9 sdal ¢

A) el B) (&t
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SECTION-IV /@Ug - IV
In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and
IV(b) Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either IV(a) Mathematics and Science OR IV(b) Social

Studies as selected in the Online Application Form and answer all the 60 questions.

39 @WUg H g1 3u@ve 31fd IV(a) nfvra den fagm wd IV (b) |mifste s1es@m 8 | gFi 3T@vel &
T T 60 TgfIhodIE T ¢ |

witemeff 61 TV (a) niftra aen fomm sran IV (b) wmafster sreaam, fSeet w=@ 31T 3Tt -u |
feran 8, o & forel) ek Sw@vs &1 g1 2 Ud At 60 T HTIT TR |

SECTION-IV (a) / T@UE — IV (a)
MATHEMATICS AND SCIENCE / ot qen fosm

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.

@ § ot 60 w97 § | T sl 3 5w v o6 == fopan 2 38 meft wem s srfamd 2

91. “William Kilpatrick’ is the founder of which method of teaching mathematics ?

(A) Lecture method (B) Demonstration method

(C) Project method (D) Analytical method

Faferrm ey nfir fren <61 o wgfe % afeemie 7

(A) =T fafer (B) ew farfer E%
(C) e fafer (D) favcifyes fafer

92. Which teaching method follows the principles of ‘Learning by doing” and ‘Learning by
observation’ ?

(A) Inductive method (B) Laboratory method

(C) Deductive method (D) None of these

formr fareqor forfer & “aheeh i 3 “srercirer g s fagra <Y urern 2t 8 7
(A) I fafer (B) wawTIme fafer

(C) T farf (D) T8 | IS T



93.

94.

9s.

96.

97.

Characteristics of a good test is

(A) Validity (B) Objectivity
(C) Reliability (D) All of these
Teh 310 qUeT0T <hl foRivan 2

(A) g (B) SIS
(C) Tovawrar (D) g aeft

In which type of teaching “The main purpose is the development of effective techniques
for the correction of error in all types of learning” ?

(A) Diagnostic (B) Remedial

(C) Achievement (D) None of these

Tore TehT o TTeroT § “3TReTH Fereft AT i g L o fordl gTaeTet faferi 1 foehre we

TR I T’ ?

(A) TreFTHs (B) 3UERIHS

(C) 3utfey (D) &7 8 1S &

In the teaching and learning of mathematics, the use of teaching aids helps in :
(A) Making teaching joyful. (B) Making contents interesting.
(C) Maintaining class discipline. (D) All of these

ot fareor 37 3tfermy & foreqor weTereh Tt wERIAT A § -

(A) T e SR A | (B) Tow=r-a%g =l A s H |

(C) T T ST S TEH H | (D) Faefih

1Y (1) (1)
The valueof | = | x| =] x|—= 1S
2 3 4

(A) -576 (B) 576

ErE
(C) 144 (D) 288 T
N2 (1?2 (1)? st
3) G) A5 =
2 3 4
(A) -576 (B) 576
(C) 144 (D) 288

3
The sum of two numbers is 15. If the sum of their reciprocals is 10° then the larger number is

(A) 15 (B) 20
(©) 10 (D) 25
3 s 1 A 153 | AR T SR A o A, A e g
(A) 15 (B) 20

(© 10 (D) 25



98. Which of the following is correct ?

(A) Dividend = Divisor x Quotient + Remainder

(B) Dividend = Divisor + Quotient x Remainder

(C) Divisor = Dividend x Quotient + Remainder

(D) Remainder = Dividend % Divisor + Quotient

fadaadie:

(A) WTST = 9IS x UTThS + AT (B)  WIST = HISTeh + WTThH x A6
(C) YIS = T x UTTheA + I (D) VBt = HIST x WTSTeh + WAThSA

99. The value of \176 + \/2401 is

(A) 49 (B) 6.08
© 25 (D) 15
V176 + /2401 HIUAFR :

(A) 49 (B) 6.08
(C) 25 (D) 15

100. If273*- D =(243)3, then the value of x is

A) 3 (B) 4 o
©) 2 D) 5 e
g 27D = (2433 &, Ax HTAA R :

A) 3 (B) 4

© 2 D) 5

101. If the simple interest on ¥ 600 for 4 years and the simple interest on I 600 for 2 years
together amounts to I 180, then the rate of interest will be :

(A) 4% B) 5%

€©) 5.5% (D) 6%

Ife T 600 T 4 TN T FTLIRT TS TR T 600 T 2 TH HT TR AT TR Fo T 180 7,
= bl e B

(A) 4% B) 5%

€) 5.5% (D) 6%

102. If the side of a square is increased by 50%, then by what percent will its area increase ?

(A) 75% (B) 100%
(C) 125% (D) 150%
e fereht at 1 T T 50% W@ fean 9, 1 39 &%ha | feha wfera &1 gfg &t STt 7
(A)  75% (B) 100%

C) 125% (D) 150%



103.

104.

10sS.

106.

If 13—0 part of a pipe is in mud, 3 part in water and remaining 5 metre above the water
surface, then the length of the pipe will be :

(A) 15m (B) 60m

(©) 30m (D) 50m

% e T T < T Y, 3 9 e 9 5 o e o e & A, A wew
&1 TraTs et

(A) 151 (B) 60 HieX

(C) 30X (D) 50 "X

The present population of a town is 5000. If there is a decrease of 10% in the population
every year, then the population after 2 years will be :

(A) 4500 (B) 4050
(C) 4000 (D) 3500

Tesh T oh! TGHM SHESIT 5000 B | Ffe SHEe # gfaed 10% st sl 81, a1 2 a¥ o1 6
SEEAT B

(A) 4500 (B) 4050 o)

(C) 4000 (D) 3500 G

What should be added to each term of the ratio 16 : 25 so that the ratio becomes 2 : 3 ?

Aa) 3 B) 1
<© 2 (D) 4
U 16 : 25 o T U H 1 ST ST foh g ST 2 : 3 B 9 ?
(A) 3 B) 1
© 2 (D) 4

A quadrilateral whose four sides and angles are equal to each other is known as

(A) Square (B) Rectangle

(C) Rhombus (D) Parallelogram
Ty foreeh! T e 37R I TR SR B, 98 ATl §
(A) i (B) 3d

(C) wH=gHst (D) FH=R =



107.

108.

109.

110.

111.

The ratio of the length of the side of a square and its diagonal is

(A) 3:12 B) 1:42

(©) 2:2 (D) ~2:1

Tt < YT Ue 3Gk TeehUl <hl &S ShT STIT 2 :

(A) 3:42 B) 1:42

©) 2 :2 D) V2 :1

The sum of two sides of a triangle with the third side is

(A) greater (B) small

(C) equal (D) None of these

fepelt forgst <Y <1 syomat o = el S A BT @ - Of 4]
(A) = B) B =
(C) &R (D) TH A g &I

The volume of a cuboid is 440 cm? and the area of its base is 88 cm?, then the height of
the cuboid will be

(A) 3cm (B) 2.5cm

(C) 6cm (D) Scm

Teh THTY T 3T 440 T THT B 37 38 STYT 1 &%k 88 a1 AH 7, 1 TATH i Harg
FLE

(A) 3ot (B) 2.5@Ht

(C) 6ot (D) 5 &

The number of diagonals in a cube is

A) 2 (B) 4

<© 5 D) 6

T T H forehuTt shi T Bt & -

(A) 2 (B) 4

<) 5 (D) o6

If the height of a cylinder is 11 ¢cm and the curved surface area is 968 cm?, then the radius
of the cylinder will be

(A) 10cm (B) 1lcm

(C) l4cm (D) 8cm

I Th AT shi HaTs 11 FH 3R 5k I3 T &%l 968 T Tl &1, q1 oe oh s gl -
(A) 10Tt (B) 113t

(C) 149 (D) 8&f



112.

113.

114.

115.

The arrangement of presenting the data in columns and rows in a sequential form is called

(A) Classification (B) Tabulation

(C) Presentation (D) Analysis

THeh! ! GHIT a2 Ul § sheg €9 H TEq hi h! e Haelld & :
(A)  arffeRTer (B) @t

(C) TRt (D) faero

Which of the following is not a source of secondary data ?

(A) Magazines (B) Official report

(C) Self survey (D) Data stored on the internet

= 5 @ i e =1 i stfeet 1 Ea e 2 2

(A) b (B) I ideled et

i
(C) =afda grr T fopan o wed (D) 3T W HUfEd 3The

With the observation of frequency polygon, which of the following can be found out ?

(A) Mode (B) Median

(C) Mean (D) Standard deviation
ST TGS o AR & TTRI H & F1 F1A [haT ST Hehell § ?
(A) ¥ETH (B) wferh

(C) ureH (D) W faerer

When two dice are tossed simultaneously, the probability that the sum of the numbers
appearing on both the dice is 8 will be

) ¢ B 3¢

© = D)

2 UTET Bl Ueh 1Y 3BTl G ST ITE] UL 3T STl ST 1 I 8 B <hl TTfRrehdT gt
1 1

A) 5 B) 36

5 7
© 35 D) 36



116.

117.

118.

119.

120.

The knowledge of Mathematics is

(A) Exact (B) Logical

(C) Systematic (D) All of these
TTfOTd %1 T BT 2 -

(A) Jurd (B) dfeheh

(C) whmsg (D) FE @
“Mathematics is the giving of same name to different things.” This statement is said by
(A) Henry Poincare (B) Roser Banken
(C) Berthlot (D) Benzamin Peirce
“farfir=T gl 1 THM W 1 €1 A & |7 98 e fhEH et ?
(A) T g (B) TS Sepd

(C) wdaTe (D) STt foert

Which of the following statements is not related to the reason for giving special place to
Mathematics in the curriculum ?

(A) Mathematics is an exact Science.

(B) Mathematics generates logical attitude in children.

(C) Mathematics is not for ordinary people.

(D) The language of Mathematics is universal.

3 & @ i |1 e TR 1 argashe B forsiy T 39 % R 3 wefd T R 7
(A) TioTd ues el fasm 2 |

(B) it st & qrfeheh gfecenion dgr e B |

(C) TIfTa g W % R A R | '5%
(D) o <6 ST A A 2 | =

Mathematics teaching is useful :

(A) In social development (B) In practical life
(C) Inintellectual development (D) In all of these
Tifora fareqor Sunft grar R -

(A) gmET faspma | (B) TGN Site T
(C) wifgs famm (D) safH

The word ‘curriculum’ is originated from

(A) Latin language (B) French language
(C) German language (D) None of these
“HipeTd’ (TTSAHA) I16G <h! I 8 & -

(A) ofeTumr (B) ha U H

(C) T AT H (D) T8 A IS T



121. Which type of mammary glands are present in human female ?

(A) Apocrine (B) Merocrine
(C) Holocrine (D) Eccrine
HIET AHE B T TR ik & TehR 1 arRft ATt § 2
(A) ISR (B) HIshIE
(C) EcshrE (D) THRTE
122. Disease caused by deficiency of Vitamin — C (Ascorbic acid) is
(A) Night-blindness (B) Beri-Beri
(C) Scurvy (D) Rickets
foerfim-=t (C) (Tehifeh Tfie) i sl § g ST AT 2
(A) Tt (B) &0-aft
(C) et (D) feebem

123. In which phase of cell division process of synapsis occurs ?

(A) Pachytene (B) Zygotene
(C) Diplotene (D) Diakinesis
e et 1 i o eeen f e A sfrm a2 0 AR
(A) ThERA (B) Sermife
(C) fe=Ared (D) SHHERH
124. When medical termination of pregnancy was legally approved in India ?
(A) 1947 B) 1971
(C) 1958 (D) 1960
WA § fafercdia Tmiar amaa i S w&iehfa e JeH 6 T8 ?
(A) 1947 (B) 1971
(C) 1958 (D) 1960

125. Where is the institute that developed ‘Saheli’, a contraceptive pill, located in India ?

(A) Bangalore (B) Ahmedabad

(C) Lucknow (D) Chennai

‘TRt s - Fereh Tieft @ foehfia St STer TEu, YRa § el fRra® v
(A) SR (B) 3TEHEISTE

(C) &S (D) =3



126. Example of Rabi crop is

(A) Wheat (B) Groundnut
(C) Maize (D) Soyabean
Tefl 1 B T 3T B —
(A) T (B) Hrheft
ER
(C) TFHI (D) T 3

127. Which teaching method was popularized by G. Stanley Hall ?

(A) Psychometric method (B) Anecdote method
(C) Questionnaire method (D) Case-history method
Sft. T g1 | i € freror fafyr =61 AR iE s 7

(A) TIfEr fafy (B) whar fafy

(C) weTaet fafy (D) Afda-sfagma fafa

128. Characteristics of continuous and comprehensive evaluation is

(A) Durational aspect (B) Continuity
(C) Omniversal development (D) All of these
eI Tl SUTeh Yeaish s feraien & —

(A) 3T T8 (B) e
(C) wargE fohm (D) ¥ &t

129. Which of the following is not an advantage of teaching aids ?

(A) Expensive material (B) Motivation and interest

(C) Effective for slow learner (D) More efficient learning possible
freferfaa & & = a1 freror-werre g w1 aw aE R 2

(A) wE "R (B) ROM 9 T=rehal

(C) Tuse sretehi & forw gumeft (D) ¥3e ™ oh! IIfed Fva



130.

131.

132.

Which of the following is not a correct example of muscular force ?
(A) A person lifting a bucket of water placed on the ground with both his hands.
(B) A person lifting a book on the table with both his hands.

(C) A person stops rowing a boat with both his hands then boat stops after travelling
some distance in the water.

(D) A person pushing a table placed on the floor with both his hands.

forifend o & o6 o1 Usfia oict <1 Tl Serewr T R 2 i

(A) Toreh safad gra s SRt gl A M W T R et di gerr | E

(B) Tereht =afa grr 379 ST BT O O WX Tt U ek bl 3SH |

(C) ol et GRT 370 ST Tl & 1 W1 S Y G TR, Tel 3B AT 1 5 Gl =Ieteht &b ST |

(D) forelt =afer g1 37U T g1 & 3l W’ Tt B o GehetT |

If a simple pendulum takes 40 seconds to complete 20 oscillations, then the time period of
the simple pendulum is

(A) 2second (B) 0.2 second

(C) 5second (D) 0.5 second

¢ Teh TA TAleTeh 20 GIe G i H 40 THUE T &, TN A TAleTeh ol ST & :
(A) 2 HHTS (B) 0.2 9Us

(C) 5UhUS (D) 0.5 0

A cold steel spoon is dipped in a cup of hot milk, then its other end -
(A) becomes hot by the process of convection.

(B) becomes hot by the process of radiation.

(C) becomes hot by the process of conduction.

(D) does not become hot.

I hl U 3! THT i T GY o Y H Za- T HhT g8l R
(A) TeTE Sfsha G TRH B ST |

(B) Tarfertor wfska gro mw g smom |

(C) =ITer STk R T 21 S |

(D) TRH & |



133. The image of an object formed by side glass of motor vehicles is -
(A) erect, real and smaller in size than the object.
(B) erect, real and bigger in size than the object.
(C) erect, virtual and smaller in size than the object.

(D) erect, virtual and bigger in size than the object.

T I o UTYel gUuT gRT Ush g (farvar) ot sramm e fdfers grar & —
(A) e, arcafees qm g | awg (fom) @ ®ier |
(B) e, arfees qem @ | awq (forar) @ w1t |
(C) e, 3muTE qen args # awq (forar) | Bt |
(D) e, sy auT Arse 7 a5 (forar) @ e |

134. The correct statement for loudness and pitch of the sound in roar of a lion -

(A) Loudness high, Pitch-high (B) Loudness high, Pitch-low
(C) Loudness low, Pitch-low (D) Loudness low, Pitch-high
IR h €gTe | Al 1 yaerdr Ud aed o fofw Tl e 8 —

(A) TSeIdT AT, THed 31fereh | (B) VSeAdT 37T, e A |

(C) JSeTdl H, dicd & | (D) YSeAdT S, AR 314 |

135. Which of the following device is based upon magnetic effect of electric current ?

(A) Electric bulb (B) Electric fuse
(C) Electric bell (D) Electric press
freifeRa o & foRIa 9T o Freehi TWTE T 3G Jfad ®
(A) o srew B) o v i
. O
(©) fogaud (D) fergga et
136. Which planet is least dense among the following planets ?
(A) Saturn (B) Mercury
(C) Mars (D) Jupiter
freAifend 781 & & IF |1 78 T HH HEA © 7
(A) = (B) 4

(C) = (D) FE=fd



137.

138.

139.

140.

Which of the following is not correct for ‘evaluation’ ?

(A) Itis an integral part of teaching process.

(B) It is more objective, reliable & valid.

(C) Its area is limited.

(D) Diagnostic and remedial teaching is possible through this.

Frerifipa 3 & i’ 3 g i e e T R
(A) IE Treror wfskan w1 i 3m g |

(B) g AT axgfrss, favaafia aenayg 2 |

(C) THT & | 2 |

(D) 38 g femTenes qe Su=rrrehss freqor aeve 2 |

Example of thermoplastic among the following is

(A) Bakelite (B) Melamine

(C) Polythene (D) Urea-formaldehyde resin

freferfa #f @ ez %1 3gE 2 -

(A) dharge (B) el

(C) uifere= (D) FET-wiHceaEe (A

Monoatomic molecule among the following is

(A) Argon (B) Hydrogen

(C) Oxygen (D) Ozone

frferfiaa o & TR 30§ — E'%
=

(A) 3T (B) TEZNH

(C) TS (D) 3AWA

Chemical formula of magnesium phosphate is

(A) MgPO, (B) Mg,(PO,),
(©) Mg,(PO,, (D) Mg(PO,),
AT BiEhe o TERIS T 8 —

(A) MgPO, (B) Mg, (PO,),

©) Mg3(PO4)2 (D) Mg(PO4)2



141. The process used to separate grain from stalks is

(A) Hand picking (B) Threshing
(C) Sublimation (D) Sieving
T el 1 EfAT | TR Sl gUeh HH H T TiRAT 8 —
(A) TTE (B) 9fsm
(C) e (D) e
142. Natural indicator among the following is
(A) Litmus (B) Phenolphthalein
(C) Methyl orange (D) Methyl red
frferiaa o @ wrehfoes g & —
A) Toremm (B) Thareradfer
(C) ufyat TS (D) A tE
143. Inexhaustible natural resource among the following is
(A) Forest (B) Coal
(C) Natural gas (D) Sunlight
freferftad & srer wTehfos wETeE & - Eﬁ'ﬂ.
(A) = (B) I
(C) Thfceh & O EEREIREIN
144. Example of co-curricular activity in Science teaching is
(A) Chart (B) Model
(C) Bulletin board (D) Science club
forsma freqor & wrg Tt f3par <1 IgraTor 2 —
(A) = (B) et
(C) TafAaRE (D) oz =etet
145. Which class of plants is called “Amphibians of the plant kingdom” ?
(A) Pteridophyta (B) Gymnosperms
(C) Bryophytes (D) Angiosperms
fore a7t < el ST “UTQH ST o IWIER” T ST & 7
(A) &R (B) For=read

(C) STETHIE (D) ufsErerd



146.

147.

148.

149.

150.

Which of the following is a non — infectious disease ?

(A) AIDS (B) Cancer

(C) Corona (D) Common cold

7 5 9 SrEsmh M HH AT R ?

(A) TEE (B)

(C) R (D) ETHI M

In which stage of cell division synaptonemal complex is formed ?

(A) Prophase I (B) Prophase II

(C) Prophase (D) None of these

SHITTenT favTem # feif-me affs w1 fufo oF @t seeen g gar g ?
(A) TEiEE I (B) vatawer Il

(C) vateRen (D) &7 & S T

Fossil fuels are

(A) Renewable source of energy (B) Non-renewable source of energy
(C) Both (A) and (B) (D) None of these

et 399 8

(A) S T TR FId (B) il ol IR |G
(©) (A (B)TH (D) S & I TE

Ganga Action Plan — Phase I was launched in

(A) 1987 (B) 1985 Eﬁ'ﬂ-
(C) 1989 (D) 1984

AT 1l FTISHT - =0T 1 T 3TRH §3T

(A) 19871 (B) 19851

(C) 19891 (D) 19847

Which bacterium causes gonorrhoea disease ?

(A) Mycobacterium tuberculosis (B) Corynebacterium diphtheriae
(C) Mycobacterium leprae (D) Neisseria gonorrhoeae
S U ST & oTreh WA 8 7

(A) WSHIEFINEH TFEHREATE (B) RHaFEH feweiiam

(C) WIS At (D) gt mafeEms



SECTION-IV(b) / ©UE — [V (b)

SOCIAL STUDIES / €THIRNTR 318999

There are 60 questions in all in this section. The candidates who have selected this subject
must answer all the questions.

@S § Hot 60 T & | T sr=ffa 3 5o fo ot = fopam & 38 weft wem e a1 2

91. Which of the following statements is false ?
(A) The earth is also called a blue planet.
(B) Venus is considered as “Earth’s — twin”.
(C) Saturn is an Inner planet.
(D) Mercury completes one orbit around Sun in 88 days.

T 08 T U TR 7

(A) gﬁgﬁg%ﬁwwél N

(B) Ih A1 <1 ST T8 AHT AT 2 |

(C) ¥ Th SAAHH TE 2 | N

(D) 99, T TR 3R T IIEHA 88 feai H qu s 2 |

92. Whenitis 10.00 AM on 0° longitude, what time will it be at 15° east longitude ?

(A) 11.00 AM (B) 11.00 PM
(C) 10.15 AM (D) 09.45 AM
I 0° I W GEE b 10.00 1 W@ &, a1 15° gl e 9¢ fehe1 o g 2
(A) 9E: 11.00 (B) T 11.00
(C) drd: 10.15 (D) 9rd: 09.45
93. The place in the crust where the earthquake movement starts is called as —
(A) Focus (B) Epicentre
(C) Vent (D) Crater
-TUE 3 o T8 T TET YU 3TREY BIT 8, el § —
(A) 3T (B) 3ferh
(©) frpm () (D) &

94. Earthquake and Volcano are caused by —
(A) Endogenic forces

(B) Exogenic forces @ﬁ o

(C) Endogenic and Exogenic forces =

(D) Solar forces

Y 3R SATATHE! Hfed & 1 R0 & —

(A) IAdSid 5 (B) dfgsid 5t

(C) STaSiia Td afesid s (D) ENHed s
95. The Agulhas current flows in which ocean ?

(A) Arctic Ocean (B) Atlantic Ocean

(C) Pacific Ocean (D) Indian Ocean

ITIETETE I H ¥ UETEWR | aTfed gl & ?

(A) 3Th{CH HEETR (B) 3TeAICH HETHTR

(C) ST~ HETETR (D) f&< Agm@mR



96.

97.

98.

99.

Who was the first General of Archaeological Survey of India ?

(A) Lord Cornwallis (B) Sir John Marshall
(C) Alexander Cunningham (D) William Bentinck
I U HA&T0T o Tge] el hiF o 7

(A) TS HidaTierd (B) X ST AN
(C) TSt Hiam (D) faferam sfés

Which statement is true regarding The Therigatha ?

L. This is part of Sutta Pitaka.

II.  Is a collection of verses composed by Bhikkhunis.

III.  This is part of Vinay Pitaka.

IV. It provides an insight into women’s social and spritual experiences.

(A) L 1IL I B) LILIV
(C) IL 101, 1V (D) L1, 1V
M G A HH AT HIA TG 7 EE

I I8 g e o fgwm 8 | 3%
. 3an fyegla gro thad S 1 Gehed R T 8 |
L =% fora foesh o g 2 |
V. 3o afgerst o amTiere 3t senfoie sval o TR g fierd 7 |
(A) L II I (B) LILIV
(C) 1L I, IV (D) LI IV

Vardhman Mahavir belonged to which dynasty ?

(A) Lichchhavis (B) Haryank
(C) Shakya (D) Satavahana
eI HETR fore o9 & wafa 9 7

(A) fossd (B) &

(C) = (D) dHrddrad

Why Magadha was the first among the Sixteen Mahajanapadas ?
(A) Agriculture was especially productive.

(B) Presence of Iron Mines.

(C) Availability of Wild elephant.

(D) All of these

GITg TSI H TTY YW =17 o7 ?
(A) Tt 63U =T BT | (B) g I @eH &M |
(C) STeft g1eft o1 3ueTedr BT | (D) J &t



100.

101.

102.

103.

104.

Where is the Harappan site called Lothal located ?

(A) Rajasthan (B) Gujarat

(C) Haryana (D) Kashmir

AN ATh ESWTS TS hal fIq 8 7

(A) TI®™ (B) TSI

(C) gfwmm (D) R

Barygaza was the Greek name of which port of ancient India ?

(A) Bharuch (B) Arikamedu

(C) Puhar (D) Madurai

SHOTTSTT ST | o i 8 SGUITE 1 A T o7 2 EE
(A) & (B) iy =
(©) W (D) "G

Chola inscriptions mention several categories of land. Among them Vellanvagai was
(A) Land of Non-Brahmin Peasant proprietors.

(B) Land gifted to Brahmins.

(C) Land for the maintenance of a school.

(D) Land gifted to temples.

e Afrer@t 7 i i fafim wifeat w1 oo fiear 8, 3796 8 “SeaqaTTs” &1 9ey o

(A) s foram @ <6 i (B) STl % 3ugr # € 7S Yy
(C) Tepelt feramera < waw@m™ & fotw yfr (D) Hiet 1 Iwgm § & 718 yfyy

How many sub-committees have been mentioned by Magasthenes to conduct military
activities in the Mauryan administration ?

(A) 4 B) 6
© 38 (D) 10
Brreerfist 3 4R weea § S nifafafir o g=mer o for fera Su-afufeat s Seora fran g 2
(A) 4 B) 6
© 38 (D) 10

What was the land donated to Brahmins in the Gupta period called ?

(A) Vellanvagai (B) Shalabhoga
(C) Devadana (D) Agrahara
TeshTet B SITRIUT <hl it i g < STt oft 38 o shad o 7
(A) SeeTE (B) ST

(C) <aeH (D) 3TER



105. Which was the capital of the Chalukyas ?

(A) Madurai (B) Amaravati
(C) Bharuch (D) Aihole
T oh! TG i € off ?
(A) AR (B) 3wt
(€ W& (D) g
106. Who was the first Sultan to visit the “Shrine” of Khwaja Muinuddin Chishti ?
(A) Qutubuddin Aibak (B) Iltutmish
(C) Muhammad bin Tughlaq (D) Alauddin Khilji
AT Ge A et o1 “TUTg” 9 3T aTel 98l o™ hid o ¢
(A) FILH T (B) Fegafte
(C) HewTe fom greth (D) ITAREN Raesit
107. The Polaj, Parati, Chachar and Banjar land types belong to which period ?
(A) Maurya (B) Gupta
(C) Sultanate (D) Mughal
It T, |TeR J 9 i o YR fohd w1l & Hafud g ?
(A) W B) T= [
(C) Head (D) T [
108. Which was Akbar’s favourite style of Calligraphy ?
(A) Nastaliq (B) Kaufic
(C) Manzil-abadi (D) Herat
3TheR i For@ <hl TEeIel et i = off 7
(A) TEfeTh (B) itk
(C) STt ST (D) =a
109. Who painted a picture titled “The Relief of Lucknow” about 1857 ?
(A) Marshal (B) Miss Wheeler
(C) Thomas Jones Barker (D) Joseph
“T el 317 @, A19eh far 1857 & fowar § fope s@mn 7
(A) wmA (B) TE =&IeR

(C) oITHE STI=F Tt (D) <IE%



110.

111.

112.

113.

114.

Who was the author of the book ‘Gulamgiri’ ?

(A) Dayanand Saraswati (B) Swami Vivekananda
(C) Jyotirao Phule (D) Raja Rammohan Roy
TATRIRY ITHeh I o oi@eh i o ?

(A) <ITG FTEadt (B) @t fadehre

(C) arfata gt (D) TSI THHEHA T
‘Family Welfare’ subject is given in which schedule of Constitution of India ?
A) 4 B) 6

© 9 (D) 11

“qiER Sheor fower aid o Gfaym i forg sl & femmn g
A) 4 (B) 6

© 9 (D) 11

Who has the power to amend Constitution of India ?

(A) Supreme Court (B) Only Lok Sabha

(C) Only Rajya Sabha (D) Parliament

WA < T H Feee i i vfed fohd T & 2

(A) I=AH =TT (B) TTA ek AT I

(C) o TST 99T i (D) GHEH

When is ‘Legal Services Day’ celebrated in India ?

(A) 1 January (B) 10 August

(C) 9 November (D) 10 December

a8 “faftre T fegd’ wa R STar ® 7

(A) 1 5Had (B) 10 37

(C) 9 Fami (D) 10 feomr

State the correct sequence of words mentioned in the Preamble of the Constitution of
India.

(A) Fraternity, Equality, Liberty, Justice. EE
(B) Equality, Liberty, Justice, Fraternity. e
(C) Liberty, Equality, Justice, Fraternity.

(D) Justice, Liberty, Equality, Fraternity.

I o Hiqe 1 efereet & affa wrsgi o1 wel 3TIhA s |

(A) SYAT, HHAT, AT, =A™ (B) HwdT, WA=, =T, SYAl
(C) Eord=reT, |waT, =T, SYdT (D) =T, ST, §HaTl, ST



115. When was “Protection of Children from Sexual Offences Act (POCSO)” came in force in

India ?

(A) 2008 (B) 2010

(€) 2011 (D) 2012

A | “CifiTeh STHHT & STeTehi o TR0 AT (qieeht)” e AT 5T ?
(A) 2008 (B) 2010

(€) 2011 (D) 2012

116. Which one is not included in ‘Fundamental Duties’ given in Article 51 A ?
(A) To Pay Taxes
(B) To Defend the Country
(C) To Safeguard Public Property
(D) To Develop the Scientific Temper

= 8 & o w1 Ise 51 % 1 U e wheiea d Wil T R 2
(A) U T PTAH A | (B) < hI T H |
(C) HrdIfes Gufer =l giferd @ | (D) =Ttk gfseehivr o1 ferehra i |

117. Which Constitutional Amendment determined the size of the Council of Ministers ?

(A) 81 (B) 91
(©) 101 (D) 102
fora gfaum genem gro wtafg 1 e fatfa fear mn
(A) 81 (B) 91 050
(©) 101 (D) 102 GF
118. ‘SVEEP’ is related to
(A) Voters Awareness Programme (B) Rural Swachhta Programme
(C) Urban Swachhta Programme (D) Corruption Control Programme
‘i’ (SVEEP) Tafed &
(A) HIETAT TNTEhHAT HRIHT (B) TmHivT Tl iR
(C) &l w=sal HriH (D) USTER {3 SR
119. ‘The Dispute between two States’ is part of which jurisdiction of the Supreme Court ?
(A) Original (B) Appellate
(C) Advisory (D) Writ
“T A1 o 7 foaTg” IS <AITerd o fohd SRR o fewn g 7
(A) Tifes (B) Tt
(C) TS (D) T (aferh)
120. The ‘Theory of Basic Structure’ was propounded by the judiciary in which case ?
(A) A.K. Gopalan (B) Kesavananda Bharati
(C) S.R. Boomai (D) Golaknath
T T 1 FagTa” =mranferent A fopd e # wfcuea fepam ?
(A) U, MU (B) ohITETE WA

(C) TH.3R. S T3 (D) T



121.

122.

123.

124.

125.

“Education is nothing but the socialization of the younger generation.”
Above mentioned statement is given by which scholar ?

(A) Durkheim (B) Bossing

(C) Auristotle (D) T.P.Nunn
f3reqn 92 it & TETSTeRToT 6 SATh o T 8 | HUF FHET TR -
(A) g™ (B) i

(C) 3I& (D) @4

“Model of understanding level of teaching” is also known as

(A) Herbert’s Model (B) Morrison’s Model

(C) Ausubel’s Model (D) Turner’s Teaching Model
“HigA 3T ISRV gt HAT® e i 38 9 &t 1 SIar 8 -
(A) TE OlEA (B) W& Aisd

(C) I Higd (D) <R At aved

Which of the following teaching objective is not associated with Benjamin Bloom’s
Cognitive Domain ?

(A) Knowledge (B) Receiving

(C) Analysis (D) Evaluation

et o STTHA o[ o HRHTCH 81 § Traf-ard shid |1 e g9 el 8 ¢
(A) IH (B) aferrgyr

(C) ferwetwm (D) TR

According to the nature of instructional method, project method belongs to —
(A) TCI (Teacher Controlled Instruction)

(B) LCI (Learner Controlled Instruction) o, a0

(C) T-LCI (Interactive Procedure Instruction) Elﬁ'r'

(D) GCI (Group Controlled Instruction)

ITCIH Tehe1eh oh TehTd oh STFHR WIS fafer Fvarfra 2 -

(A) w31, (e FRfba srgesm)
(B) ueA.H.31E. (fremeff frifia srgeem)
(C) &.-ta.H.3ms. (3w gfshan 3rgev)
(D) Sf.¥.37E. (g Maha se)

Which of the following formula can be used to represent the “Measurement and
Evaluation relation” ?

(A) Measurement = Evaluation + Assessment

(B) Evaluation = Measurement + Assessment

(C) Measurement = Evaluation

(D) Assessment = Measurement + Evaluation

HoATR Td I o -4 1 HaR 4 9 8 fopa 93 gR1 Ierid foran ST Hehdn 8 ¢
(A) T = YeTeh + qed g (B) Teh = WT9H + e fgito
(C) H9F = HeATeh (D) W FMYRT = 7797 + Yo




126.

127.

128.

129.

130.

Which of the following steps is not a part of “Project — Method” ?

(A) Creation of the situation (B) Selection of project

(C) Analysis of information (D) Evaluation of the project
= 5 @ i 3 ve e fafy a2 e

(A) uifRafd Sea= & | (B) TSI <1 T4 |

(C) g=1 o1 fergero | (D) STRISHT T YTk |

Which of the following suggestions were not presented for the continuous and
comprehensive evaluation of National Education Policy-1986 ?

(A) Evaluation should be aim-based.

(B) Nature of evaluation should be vast.

(C) Evaluation should be done regularly.

(D) Intensive training is not needed in making of question papers.

T e - 1986 o Yourehd ol TR 3TR SAT9h S o ST=wTd - geira el e /= —
(A) AT A& HATHTNG BT =M(T |

(B) YcHTh 1 TTEY ST BT AT |

(C) Heameh = fopan s =ifew |

(D) o= fomior § SreAaeni shi e feTor <Al STraveehdl T8 ¢ |

Which of the following is useful in class-room teaching comparative study ?

(A) Poster (B) Time lines

(C) Sketches (D) Graph Em

T - T1e701 H GeTcHeh STEeH o foTe ITAf BT 8 - o

(A) TRX (B) EHA-TATCThIT

(C) TErf (D) T

A student can learn about the culture and folk life of ancient and modern times through
(A) Tour (B) Museums

(C) Observation (D) All of the above

TR TS SHH It hl HEhf T AAleh-SHaH i, B Tcdel €9 § FH AT HLT &, 98 T & —
(A) oo (B) T

(C) ITarhA (D) IWie Teft

The newer, younger deposits of the flood plain in North-Indian plain, are known as —
(A) Bhanger (B) Khadar

(C) Bhabar (D) Terai

IR-IRA BegH | a1g i F-Far &t 6 S sman € -

(A) TR (B) @

(€) ¥R (D)



131.

132.

133.

134.

135.

136.

Which is the most wide spread forest in India ?

(A) Tropical Deciduous forest (B) Tropical thorn forest

(C) Tropical evergreen forest (D) Montane forest

A § FgdTId § 9T I Tell a9 S |1 8 7

(A) Irehfesef qofardt o= (B) ISUTh{eEER ShiegR o+

(C) IWThfeaE HeTagR o= (D) vEdE

Which crop is known as “Golden Fibre” ?

(A) Cotton (B) Jute

(C) Hemp (D) Natural Silk

SIF T BHA BT “GAEU W % A H A8 ?

(A) =UH (B) S

(€) & (D) Tehiceh WH

Metallic mineral pair is —

(A) Manganese — Copper (B) Copper — Graphite

(C) Iron— Mica (D) Mica— Dolomite

T it 1 & - o o
(A) e — afe (B) a1 — Ihrse i
(C) <& — 3A9h (D) Y — SIAMTES

The biggest selling anti-cancer drug in the world is extracted from which plant in India ?
(A) Arjun (B) Himalayan Yew

(C) Sarpagandha (D) Axlewood

forea o gew 31feres forend areft Sher Teft 3wy G ® & @ N9 & I 81t 8 2
(A) 3TH (B) fewmerH o=

(C) Fde (D) ITHAIS

In the arid and semi-arid regions of Rajasthan, the word “Palar Pani” is used for —
(A) River water (B) Underground water

(C) Canal water (D) Rain water

TSI % 5 I 18-k &A1 H “UTeR-uTt” wreg fehweh foTe e g g 2
(A) &5 (B) yftrma i

(GRS (D) 99 S

The biggest solar park of India is established in which district of Rajasthan ?
(A) Jodhpur (B) Jaisalmer

(C) Barmer (D) Bikaner

TSR % M | Tl § WA o1 G99 ST Hio) Teh T1fud fem man g 2

(A) SEq (B) SR

(C) S (D) et



137. Match the following :

Festival District
(1) Camel festival (a) Jaisalmer
(2) Desert festival (b) Bikaner
(3) Kite festival (c) Udaipur
(4) Mewar festival (d) Jaipur

» @ G @
A b @ @ (©
B) (@ (b (© @
© @ (© (@@ (O
D) (@ ((®) (@ (o
fore =1 gafera <hifre
I@a Rren
(1) e 3a (a) SR
(2) HE3IHd (b) ®RR

(3) T IH (c) SR
(4) TEREIEE  (d) TR
M @ 6 @

A) (b @ @ (©
(B) (@ () (© (@
© @ @© @ O
D) (@ ((b) (@ (o

138. Which of the following statements is false ?
(A) Jawahar Sagar Sanctuary is in Kota, Bundi, Chittorgarh.
(B) Kesar Bagh Wildlife Sanctuary is in Dholpur.
(C) Semi-tropical evergreen forests are also called monsoon forests.
(D) “Kalpvriksh of Rajasthan” is Rohida.
= O @ F aT e AR 7
(A) SETE AR THIRT hiel, 94, Faxeme 4 2 |
(B) X ST FISHT SIS AT H 7 | e
(C) 3¢ IWTh{eaef HeEgR g bl g o+ ¥ H7d ¢ | B
(D) “TSRYH 1 heudd” UKST 7 |

139. Which is not correctly matched ?

(A) Luni-Jojri (B) Banas — Menal
(C) Mahi — Banganga (D) Chambal — Parvati
S a1 T gafera T 2 7

(A) <t - Sieret (B) ST — BTTeA

(C) W& — FOFTT (D) == — gt



140.

141.

142.

143.

144.

145.

Who built the “Varaha temple” at Pushkar near Ajmer ?

(A) AjayRaj (B) Aruno Raj

(C) Vigraharaj IV (D) Prithviraj Chauhan

TSR o 9T fera qeent | “erg |fgw” ot famior fopm sheama

(A) 3SR (B) IS

(C) fomrenst =gl (D) oot <fter

Who was the political agent of princely State of Sirohi at the time of 1857 revolt in Rajasthan ?
(A) J.D.Hall (B) Eden

(C) Major Burton (D) Mac Mession

TS ¥ 1857 <1 Shifd o TH ! fama &1 uifcTieshd Toie i o1 ?

(A) .. g (B) w4

(C) T« (D) B Tud

Motilal Tejawat was a resident of which village ?

(A) Falasiya (B) Samalia

(C) Colliery (D) Mangarh EmE

AT dorTard fohd i o et o ? b

(A) AT (B) i

(C) wifeamdt (D) ATE

Which literary work of Kanhaiya Lal Sethia was given Suryamal Mishran Award in 1987 ?
(A) Leeltans (B) Nirgrantha

(C) Dharti Dhora Ri (D) Shabd

1987 1 FIHTH T TEEHR hrodTerTdl Hfee i ford afeferes T w1 fean m ¢

(A) Aere™ (B) iy

(C) ot amd (D) Tag

“Hathal village” is associated with which princely state in the integration of Rajasthan ?
(A) Kishangarh (B) Jhalawar

(C) Pratapgarh (D) Sirohi

“EIU TITd” T T TSTEATH o ThIHT | i T famed & Je1 g ?

(A) fwurme (B) ¥cETg

(C) HdamTe (D) &=t

Governor General Lord William Bentinck named which fort as the second Gibraltar in the
world ?

(A) Mehrangarh (B) Nahargarh

(C) Siwana (D) Taragarh

IR S Are faforem dfée = fore g7t 1 gfren 1 qa seet et @ 2
(A) WG (B) T&UTe

(C) Trmom (D) dRETG



146.

147.

148.

149.

150.

Which fair of Rajasthan is called ‘Kumbh of the tribals’ ?

(A) Beneshwar Fair (B) Kaila Devi Fair
(C) Jeen Mata Fair (D) Diggy Fair
“FTfeaTfirt o1 HU” TSREIH % B A At 1 HEl JAAT 8 ?

(A) SO BT (B) hall ¢at Heft
(C)  SfrorgTan vet (D) fewft vem

Thamanyo, Thedyo, Aad and Thussi ornaments are worn by women in which part of their
body ?

(A) Head (B) Neck

(C) Hands (D) Waist

U, VAN, TS, JEH ATHh TN e gRI hal 9ol fohd SI1d & 7

A) fwmd (B) w3

(C) TUH (D) HAL T

“Mabharaja School of Arts and Crafts” was established by which Rajasthani ruler ?
(A) Sawai Jaisingh (B) Sawai Ramsingh

(C) Jagat Singh (D) Jaswant Singh

“HETIST Thel HATh ITTSH TS FhIFLH” hl TATHHT fohdd TSI SIeeh g shiarfl =Y 7
(A) G SRR (B) WS THIEE

(C) <raféE (D) SHedrEE

“Valar dance” is performed by

(A) Female (B) Male

(C) Male and Female (D) None of these E%

“grer Fo” foreeh g R ST B 7 =

(A) ®gwr (B) TFeugErm

(C) #aEIgm (D) TH A g &I

After attaining which of the following objectives, a student can correct any given error in
amap ?

(A) Gaining Knowledge (B) Development of Understanding

(C) Application of Knowledge (D) Action Skills Development

e o 3 fora Seva Y wanfo wr feremeff fereht wrafem & sifera sryifeat 1 ot wraswar g 2
(A) THRH (B) Y 1 ferpr

(C) TGN (D) TsrarcHes shisredl w1 forepre
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(96) PL-2
INSTRUCTIONS / f5éa
(Read carefully and comply / &9 & 9§ 3R 9ra &%)
IMPORTANT / H&@qut

. In Section II (Language-I) a candidate has to attempt the questions of the language which the candidate has selected as Language-I in the
. In Section III (Language-II) a candidate has to attempt the questions of the language which the candidate has selected as Language-II in the

. The candidate must ensure that the Question Booklet Series Code and Shift No. has been filled correctly at the prescribed place in the

. The candidate has to answer of that subject in Section (IV a) Mathematics and Science or (IV b) Social Studies as selected by the candidate

Online Application Form.
Que 11 (WINT 1) | SHI W91 6 W] H T& FA di@d g f5a qmon 1 =97 avaefl 3 9 1 F w9 F e -0 7 e g

Online Application Form. The Language-II will be different from Language-1.
QU 11 (HTHT- ll)HdHMINIch&lbedlchlamchwlMIrMM&MHWNI%HQdSTWQﬁ_:TW TR ETH STTTTEA STTAG -T=TH {ShaTe | WIS - 11 AT - 18 fTe R |

OMR Answer Sheet. Your OMR Answer Sheet will be evaluated on the basis of Question Booklet Series Code and Shift No., not

Question Booklet, N#*mber P e @ R . 2 iz .

e O 9 M W AL h LI THE 5h. Ry | SImaeh OMR ATC T {ATHA

WA HI® T TG Eﬁ%&ﬁ - R s @ wézww%mﬁﬁm|

in the Online Applicaton Form.

If a candidate answers the questions of the langu fe or subject other than selected in the Online Application Form, the candidate shall be

personally responsible_for it and it would be treated as wrong.

%waﬁaﬁ'{amﬂ W?@UE IV a) TG Td fo= a1 (IV b) AT stega § gt fawa & wet a1 ga &1 &, fora fawm o1 sgm sremedi
ST R

%f?hciwa ITATE ATeT-9 W FF(d WIS A7 f97 & U1 1 Bl 7 6<eh 79 (999 & W] 1 Bl &l € dl 98 A%A] &1 @ &7 ey

qUT T TET AT |

Read complete instructions carefully and fill the details from S1. No. 1 to 7 in the OMR Answer Sheet and Sl. No. 1 to 4 in the Question
Booklet. If you fail to fill the details and sign as instructed correctly, you will be personally responsible for the consequences arising during
scanma# of your OMR Answer Sheet.

ﬁw@%ﬁﬁ?m 197 76 OMR sfie ©a i 1%437:5113‘4 g%m(gﬁz)ﬁﬂi‘ | Ffe 39 Tod alieh | feaxo
‘w\ﬁtﬂsﬁn&r{aﬂﬁ% OMR sz &t T & Feasy g a7/ TROMET & Wfd 39 @F JaRart ent
The Question Booklet comprises 96 pages having 150 questions. After being instructed to open the Booklet only then the candidates will open
the Question Booklet seals. Check whether the Booklet contains 150 questions starting from Page No. 3 to 90. The Shift Number required in
OMR Sheet will be as per admit card issued to the candidate and also mentioned on the top of the Question Booklet.
- H 96 I8 UF 150 U © | WA ey {3 M % ST € WeA-Yieash] ] €10 G | a8 gieiead & & fo geT-giedar 7 150
T € S R U8 we 3w wew 90 % €_| OMR sfie R farge Fwer srwaedi @t I fohd T8 9av-u9 & ATER sifhd &A1 § TI A
AT h SO W R HT siferd feRar g1 R |
All questions are of MCQ (Multiple Choice Question) type. There is only one correct answer to each question carrying one mark. There
will be no negative marking for wrong answers.
FH T TEAFAT FFRF € | Tl e 1 U forehed € Hel § | 00l 0 5 ool faiiia ofeh O 2 | ot Srarar o ford sworresren aies el fo ot |
All questions other than language questions of Sections II and Il shall be bilingual.
WH-UA & AT TG @8 11 TF 111 & U o Srfaiead A8 9t guet & us fgwmha g |
In any event of any mistake_in any question/s, candidates will not be penalized. However no corrections will be made in question/s during the examination.
Teret W | ferell Jfe o fosdr wi e a1 %&TWWW | IIETT <hT SFafer § WAl # Tohel YRR hT WML ET hearan
Rough work, if any, may be done in the Question Booklet only in the space provided at the end of the Booklet. Do not tear it off from the

uestion Booklet. No additional paper shall be prov1ded . ;

TR % TF h1dl v W - feasht &317?[ H SR o1 T € | 38 WA -gfRqent & el e, | R wehr o srferfia st Suesy A€t s ST |
Use of Log tables, Calculator, Slide rule, Mobile phone, Pager, Digital diary, Bluetooth, Microphone or any other electronic item/instrument
etc. %sarrlv?t aa{lé)ﬂw@eg{ T%e%guse w%lt in dlas%_l{lahﬁcatlo%wﬁ et 3@?@'&&6 , i afia

TSSITee I, ATShIRIA AT 4 YHR HT SEE] Eal
%|3ﬂﬁa€¢qﬁnmqﬁm?m£ﬁfw%m AT B | e o
OMR Answer Sheet will be provided along wit ;%fﬁsuon Booklet separately.
OMR ¢§fie WsA-YfETRT & |19 (AT UG
The Question Booklet will be issued to the candidates 10 minutes before the start of examination and the candidate must fill all entries in OMR
Answer Sheet. The Question Booklet seal shall be opened 5 minutes before the start of examination and the candidate must fill  to4 entries correctly
on the Question Booklet. After opening the Question Booklet, ensure that any page/ question is not missing / not printed / torn / repeated. In case,
you find any defect anywhere in the Question Booklet, immediately inform the Invigilator and get it replaced within 5 minutes by the Invigilator.
Warnm Bell will rmg at 5 minutes before closer of examination and the last long bell will ring at closer of exammatlon
’;TS'"T— TR AT T & 1 fiee & g1 S | vl qragas ®9 8@ OMR Sfie § |9 giafsedt w1 6el ghR § W_| 99 -
qﬁwm% ﬁﬂz‘{j@ﬁammuw 1 ¥ 4 & fafsea 5t ﬂgﬁwﬁ‘%ﬁ |uaﬂ—g%w@aﬁ%qsamqﬁma‘fm
gﬁﬁ“a—craf{ W%/aﬁéqu&aﬁﬁ%/mt@%/ Tg T FARI I3 T ® | A wed-
%ﬂm Wiﬁaﬁég&qéaﬁ% W?ﬁ Hﬁqﬁ?ﬁ{am Sﬁﬂz%%ﬁa"{ D aq:ﬁm‘rr gt Seadl of | wAmEA! gel
% firte d ool e stfeqw ot we aaen W TSR |
erte your Name, Exam Center Code Signature, Roll No., Question Booklet Serles Code, Shift Number and Question Paper Booklet Number
in the space prov1ded in the Questlon Booklet as well as in the OMR Answer Sheet.
g - mg OMR $fie R a1 R 7™, W &g T HIE, TEATER, AHE, Te-gas €10 &re, e FHis 6 99T geasn
TR |
With each question you will find 4 possible answers marked by the letters A, B, C & D. Read each question carefully and find out which
answer, according to you is correct. Indicate your answer by darkening the appropriate circle completely in the OMR Answer Sheet corresponding
to the question. For marking answers use blue/blaek ballpoint pen only Gel pens/pencils are not allowed.

3T o IR dah(eI%h SR A, B, CI DH @I R | At ag IR R 997 3 IR bl OMR 8f1e & GraIfeirg wee shHieh o qaer

S T T et e S HE |Eﬂﬁaﬁaaﬁﬁa%ﬁ%maﬂ%wwﬁﬂwéﬁmaﬁ | 9% 3 a1 3R wT I aiia € |

Correct Method : [ corrECT /Wt Wrong Method : [ wrong/ 'RONG S S
NG / et WRONG /Ter WRONG /7o WRONG / TTei
ﬂé TR : GRED

Q0O e@| ™™ KROOO||l0Q00O||0000O||Ce0e

OMR Answer Sheet is designed for computer evaluation. If you donot follow the instructions given above and at the backside ofthe OMR Answer
Sheet, 1t m make evaluation b, computer dlfﬁcult Any resultant loss to the candidate on the abgve account shall be of the candidate only.
OMRS % )é? uﬁaﬂq?gﬁQ‘q'OMRsﬁzﬁ? R fe2 A fercart T ot ARt e, A HEEE IR STt
Iwwﬁqﬁmﬁaﬁ@ﬁaﬁw ToreRl Sueht =9 i @%
No candldate should leave the examination hall before the final bell. The OMR Answer Sheet is carbonless in duplicate having perforation on the
left side. Candidate should detach carefully the Original Copy from the Candidate’s Copy (Duplicate) so that the Original Copy is not mutilated
in any way. Candidate should handover the Original OMR Copy and Question Booklet to the invigilator before leaving the examination hall.
Candidate can carry only the Candldate s OMR co w1th him/her. Question Booklet is not allowed to be taken by the candldate
qﬁwﬁaﬁm‘aﬁaﬁﬁ% e i A A OMRsﬁzaﬂzhr%ﬁ a?fﬁv %wéa
am%ﬁmm‘rﬁﬁam & wia (sfefy) & 1o qﬁraﬁ a’r%%ét%ﬁaﬁé%qg “g_zgmﬁaﬂiﬁa
awazé)l\é[tR ngﬁqaqwg%miﬁwaﬁﬁv |MWMOMRE\Q eﬁwﬁw@tm
g KL






